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The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Baged on the

data in the table, answer the questions 1- 5 :

Year — W-i"s'ef'Pfﬂ.du@t'ion,of three types of vehicles

A - Type C - Type
5000 20000 15000
15,000 10000 22500
10,000 15000 30000
17,500 15000 23000
25,000 | 20,000 15000
13,000 25,000 | 20000
30,000 | 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154757208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The following table presents the data on the number of vehml&s of three different types (A. B
and C) produced by a company durlng seven deferent vears from 2012 to 2018. Based on the
data in the table. answer the questions 1- 5

Yeal — wzse productmn of three types of vehicles

B-Type | C-Type

2012 5000 20000 15000

2013 15,000 10000 22500

2014 _ 10.000 15000 30000

2015 17500 | 15000 | 23000

2016 | 25000 | 20000 | 15000

2017 13.000 25.000 20000
12018 30.000 35.000 25000
Options :

615475258101, 1
61547528102. 2
61547525103. 3
61547525104. 4

Question Number : 2 Question Id : 6154757209 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The number of A - type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 2016?

1) ~33.33% @) ~66.67%
3  50% 4 15%
Options :

61547525105. 1
61547525106. 2
615475258107. 3
61547525103. 4

Question Number : 3 Question Id : 6154757210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In how many years was the production of A — type vehicles less than its average production
over the given years?

) 2 2) 4
3 3 @ 1
Options :

61547525108. 1
61547525110. 2
61547525111. 3
61547525112. 4

Question Number : 4 Question Id : 6154757211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 @) 25000
(3) 15000 (4) 30000
Options :

61547525113. 1
61547525114 2
615475258115. 3
61547525116. 4

Question Number : 5 Question Id : 6154757212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 2) 2014
(3) 2015 4) 2016
Options :

61547525117. 1
615475281183. 2
615475251198. 3
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615475258120, 4

Question Id : 6154757207 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (1 to 5)
Question Label : CDmpI'EhEHSiGH

SfEs AT § F9 2012'F 2018 7% I9 RS A9 % I Rt T B SonRa 9 Rifas e
(A B 3 C) % 981 6l UEar % SAThSt gT 7 B | A ¥ 7o T At % SgR W HEtiRad
gt (1-5) I A

9 TR h STEAl W aHaR I -

f ﬁ A-T%7 | B-269 | C-3E9
| 2012 5000 20000 15000
2013 15,000 10000 29500
[ 2014 10,000 | 15000 | 30000
| 2015 17,500 15000 23000
| 2016 95,000 20,000 15000
| 2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154757208 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

7 2016 & 2017 T B IET % ameA1 5 Ieaed | forae wfaera i gfig g7

1 10% @) 5%
3) 20% 4) 25%
Options :

61547525101. 1
61547528102, 2
61547525103. 3
61547525104, 4

Question Number : 2 Question Id ;: 6154757209 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

o 2014 H SEAMET A 2T ATEAT T HET 99 2016 H e C T

~BB.67 %

ITEAT =t HEHT R Teha=T Tiarg o ?

(38) 50% @)

Options :
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615475258105, 1
61547525106. 2
615475258107. 3
61547525103. 4

Question Number : 3 Question Id : 6154757210 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

foray a9l § A I29 911 1 ScuTed o3 v 9ul § ofted Soue ¥ % 917

L 2 @) 4
3 3 4 1

61547525108. 1
61547525110. 2
61547525111. 3
61547525112. 4

Question Number : 4 Question Id : 6154757211 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& T J9T A FOA g Seea B TR STEAl St of e T a4y ot 7

(1) 20000 (2) 25000
(3 15000 (4) 30000
Options :

61547525113. 1
61547525114 2
61547528115. 3
61547525116. 4

Question Number : 3 Question Id : 6154757212 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafafaa 9 & for od 9 TR % arEal 1 B Sened 60000 917

(1) 2013 (2) 2014
(3) 2015 (4 2016
Options :

61547528117, 1
61547528113. 2
6154752581138. 3
61547525120. 4
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Sub-Section Number: 25
Sub-Section Id: 615475321
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154757213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be
sold for Rs.234 to have a profit of 30%?

1y 9 2) 100
(3) 105 4) 110
Options :

61547525121. 1
61547528122. 2
61547528123. 3
61547525124. 4

Question Number : 6 Question Id : 6154757213 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
weh SHfEd 70 SfEEl w90 TR § §= H 25% BN IeT # | 30% TR AW+ w234 = # fRewt

() 95 (2) 100
3 105 @) 110
Options :

61547528121. 1

61547528122, 2

615475258123. 3
615475251z24. 4

Question Number : 7 Question Id : 6154757214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gaing 20%?

(1) 7:4 @ 7:2
@ 5:3 @4 5:2
Options :

61547525125. 1
61547528126. 2
61547528127. 3
61547525123. 4

Question Number : 7 Question Id : 6154757214 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
e fikm A 60 TR i fRa. o 78 w wfe R o it I i @ e Rt o B oo §
foremr 2rm i 9= T8 e 1 76.80 TR it W F F9 IR 20% TN 1fSig W wh 7

(I T:4 @ T2
B 5:3 @ 5:2
Options :

615475258125. 1
615475258126. 2
61547528127, 3
61547525128. 4

Question Number : 8 Question Id ; 6154757215 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (

Whmh grven of the fa]lmvmg sets of letters when sequentml}v placed at the gaps in the letter
séries below shall complete 1t?

bb__b___ab___cbba___bchb___

(1) achac (2) achbb
(3) c¢hbba (4) abbbe
Options :

61547525129. 1
61547525130. 2
61547525131. 3
61547528152 . 4

Question Number : 8 Question Id : 6154757215 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
forAferfiae & & 31eRl =1 98 S @1 92 & Tl A9 & 1 e grme % e wuE W HEEET 9§ 98

o Bt S ?
bb___b___ab_ cbba__ bebb

(1) achac (2) achbbb
(3) cbbba (4 abbbec
Options :

61547525129. 1
61547528120, 2
61547525131. 3
61547525132. 4

Question Number : 9 Question Id ;: 6154757216 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :
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Out of a total of 10 students; the average weight of 9 studentsis 60 kg If the weight of the
10% student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

() 6lkg. 2 69ke.
3)  70kg 4) Tlks.
Options :

61547525133. 1
61547525134. 2
61547528155, 3
61547525136. 4

Question Number : 9 Question Id ;: 6154757216 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks ;:
Fel 10 To=miert § ¥ 9 Tomies] 1 | o9 60 Bh.am 2 | 3k 10 o el =1 a9 #df 10 Feni 5
g 9= 9 9 P, ailaes 2, Al 109 el =& 3== =

(1) 6115w (2) 69 fHm.
(38)  TOTmEm. (4) 71w
Options :

61547528152, 1
61547525134. 2
61547525135. 3
61547525136. 4

Question Number : 10 Question Id : 6154757217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following was not a Millennium Development Goal (MDG)?
(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages

(4) Ensure environmental sustainability

Options :
61547528137. 1

615475258133. 2
6154752581398. 3
61547525140. 4

Question Number : 10 Question Id : 6154757217 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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faeferfe & § =i 1 wEw: forme W (@ o) T B

(2) T ey H g

@) W e-at % =R R Ty SR W gRTe e oft guEe # e
(4)  THTSROTE HOTYOEAT W GETEd

Options :

615475258137. 1
61547528138, 2
61547528139, 3
61547525140, 4

Question Number : 11 Question Id : 6154757218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1)  Student (2) Teacher
(8)  Audience (4) Visitor
Options :

61547525141. 1
61547528142. 2
61547525143. 3
615475258144, 4

Question Number : 11 Question Id : 6154757218 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ffetas § & 90 =afE # afe o e § o, ot ok et e w3 9w

@1 == 2 Toees
(3)  amn (4) wigs (Fate)
Options :

61547525141. 1
615475258142. 2
61547525143. 3
61547525144. 4

Question Number : 12 Question Id : 6154757219 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options :

61547525145. 1
615475258146. 2
61547525147. 3
61547525143. 4

Question Number : 12 Question Id : 6154757219 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optiun Orientation ; Vertical

Correct Marks : 2 Wrong Marks ;

frefafed = & Wf%r 1 g

 ToTEH YRA STU I8t 7 g o

(1) T 2) Fg—h

(3) T (4) Tefem =

Options :
61547528145, 1

61547525146. 2
61547525147. 3
61547525143. 4

Question Number : 13 Question Id : 6154757220 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
Which of the following groups has the components of paralanguage communication?

(1)  Voice, Emphasis and Impression
(2)  Social Space, Voice and Impression
(3) Voice, Social Space and. Ej;p]zes sion
4) Emphasis, Social Space and Voice

Options :

615475258149, 1
61547528150. 2
61547528151, 3
615475258152, 4

Question Number : 13 Question Id : 6154757220 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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frefafes 4 & fore wqg = o/ 9ia (A0 SES) |99 % U 37

(1) TR, 99 AR I9E
(4) A, FEISS T IR TR

Options :
6154752514%5. 1

615475258150. 2
615475258151. 3
615475258152. 4

Question Number : 14 Question Id : 6154757221 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
How many National Parks and Wildlife Sancturies were there in India till March 2011?
(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only

Options :

61547528153. 1

61547528154, 2

615475258155. 3
61547525156. 4

Question Number : 14 Question Id : 6154757221 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

WTRd § 919 2011 9% forae TE ST SR 399 SiE A g7

(1) =aa 8 3R 421 ©) e 10 o 75
(3)  IH 75 AW 421 (4) HId 102 FR 515

Options :
61547528153 1

61547525154 2
61547528155. 3
61547525156. 4



www.prepp.in .repp

Your Personal Exams Guide
Question Number : 15 Question Id : 6154757222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
Which one of the following is signified by Udaharana of Anumana (Inference) in
Indian Logic?

(1) Statement of reason

(2)  Proposition to be proved

(3)  Conclusion proved
(4) Universal proposition along with ‘an instance
Options :

61547525157. 1
61547528153 2
615475258158. 3
61547525160. 4

Question Number : 15 Question Id : 6154757222 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) =IO 1 YA
v 3 e W St

@
Options :
61547528157, 1
61547528158, 2
61547528159, 3
61547525160, 4

Question Number : 16 Question Id : 6154757223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Devdatta 1s fat and he does not eat during the day. Therefore, Devadatta is eating during
the night.

The above example. in classical Indian School of Logic, is & case of :
(1)  Comparison (2) Implication

(3)  Perception (4) Verbal Testimony

Options :
61547528161. 1

61547528162. 2
61547525163. 3
61547525164, 4

Question Number : 16 Question Id : 6154757223 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

ToeT Hiel B iR oy 39 § wiom 78t ot 81 o Seew Uiy § Wiew T R
W ThATE H S IS foRE TR ST HTHET B 7

S @ fifemd

(3)  =HwOn (4) e T
Options :
61547528161. 1
61547528162. 2
61547528163. 3
61547528164, 4

Question Number : 17 Question Id : 6154757224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?
(1)  “E” proposition is false, “I” proposition is true and “O” proposition is false
(2) “E” proposition is true, “I” proposition is true and “O” proposition is true
(3)  “E” proposition is false, “T” proposition is false and “O” proposition is true
(4) “E” proposition is true, “I” proposition is f’a.ls-e-g;-anél “©” proposition is false
Options :
61547528165, 1
61547528166, 2

61547528167. 3
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61547528168, 4

Question Number : 17 Question Id : 6154757224 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FATOhE T AT STARE 6 AR I7q ‘A° T

(1)  “B Oham e &, “T7 Thamst |8t § S “0” aohaTas T &

A pefe o e i i

3)  “E’ whaTea TEA B, T et TEd § ST “0” ahard wE
(@) B T w %, T o T o S0 e e &
Options ;

61547525165. 1
615475258166. 2
61547528167. 3
61547525163. 4

Question Number : 18 Question Id : 6154757225 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following propositions is a contrary to “All poets are dreamers”?

(1) ~ Some poets are dreamers (2) Some poets are not dreamers
(3)  No poets are dreamers (4) No dreamers are poets
Options :

61547525169. 1
615475258170. 2
61547528171, 3
61547525172. 4

Question Number : 18§ Question Id : 6154757225 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Rgd H & S~ TharEd | Al W SEEE B & & e g

() 5w o g (2) FB T T A f
3) W W i wEe 96 e R (4) - oft TaeTEEr HE TE g R |

Options :

61547528169, 1
61547528170. 2
61547528171. 3
61547528172 4

Question Number : 19 Question Id : 6154757226 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which among the following is NOT a component of effective teaching?
(1) Questioning to check for the understanding of students

(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4 Reactive mode of student’s behaviour

Options :

61547528173. 1
61547528174, 2
61547528175. 3
61547528176, 4

Question Number : 19 Question Id : 6154757226 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

B - 9T feror = T w6 B Y
(L) Wzﬁmﬁmzﬁmww

(2) WO R
(3) Wﬁwwm%aﬁﬁaﬁw

Options :
615475281735. 1

615475258174. 2
61547528175 3
61547525176. 4

Question Number : 20 Question Id : 6154757227 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Which among the following factors doesn’t contribute to assessment bias?

() When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle —class values

3)  If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Obj.eﬂtiﬁfe="tﬁ'st‘-:fb.lf' 335:5'85‘_.5iﬂg""ﬂbﬂ_trﬂﬂt reasoning of the 'st;ud;&nt,

Options :
61547528177. 1

61547528173. 2
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61547528178, 3
61547528130. 4

Question Number : 20 Question Id : 6154757227 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
TAEARARad H T B Wl B 3o Tesre ‘Fﬂ'ﬁ H AMEH TEl Ha B

(1) @ =tg oK Srawal 4 9 2t ue = He R

(2) i o W N THA T tith S

(9 B A PG T Y T B B A F STHCH £ TGS T

Options :
61547528177, 1

61547528173. 2
6154752581793. 3
615475251350. 4

Question Number : 21 Question Id : 6154757228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is NOT related to qualitative research?

(1)  Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options :

61547525181. 1
61547528182. 2
615475258183. 3
615475251384. 4

Question Number : 21 Question Id : 6154757228 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

trfaRad 5 | 1 |1 oS WY | Hattg T8 87

(1) TFOTTCHSh 18 ©) = e

Options :
615475251381. 1

615475258182. 2
61547528183. 3
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61547528184, 4

Question Number : 22 Question Id : 6154757229 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(3) Epistemology (4) Etymology
Options :

61547525185. 1
61547525186. 2
61547528187. 3
61547525183 4

Question Number : 22 Question Id : 6154757229 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wmng Marks : 0

e REm § S 9eg 98 WA & T o ke e i e o s s amnte g
AeTgA Toh S WehaT B | 98 YA ﬁh‘ﬁ forer hi ST Tebe AT 7

(3) AT %) qﬂw%_-.i\m ]
Options :

615475258185. 1
61547525186. 2
615475258187. 3
61547525183. 4

Question Number : 23 Question Id : 6154757230 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options :

615475251889. 1
61547525190. 2
61547525191. 3
61547525192. 4

Question Number : 23 Question Id : 6154757230 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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'

(1) 3= @) e
(3) ot (4) IRl

Options :

61547528189. 1
61547528190. 2
61547528191, 3
615475258192, 4

Question Number : 24 Question Id : 6154757231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the factors that do not contribute to the effectiveness of teaching from the options
given below :
(@)  Socio— economic background of Teacher
(b)  Teacher’s skill in pleasing the students
(¢)  Teacher’s subject knowledge

(d) Teacher’s personal contact with students

Choose the correct option :
(1) (a), (¢) and (d)
2 (b), () and (d)
® (@), (b)and ©)
4)  (a), (b)and ()

Options :
61547528193, 1

61547525194. 2
61547528185. 3
61547528196, 4

Question Number : 24 Question Id : 6154757231 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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b)  BHE B E e s w5 e

) e =1 fowg-am

(d) B % WY e = SAReTa

O (@), @ @) 2) ), () 3R (d)
3) (@), b) I (© @ (a), (b) (@

Options :
615475258195. 1

61547525194. 2
61547528195, 3
61547525196. 4

Question Number : 25 Question Id : 6154757232 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Select the alternative features from the following, which make open ‘universities as

non-traditional universities :

()  Innovative method of teaching and learning

(b)  Innovative method of admission, curriculum and evaluation
(©  Modern communication techniques

(d)  Teacher's friendly approaches

Select the correct option :

1) (), () and (d) only
2  (a), (b) and (c) only
3)  (a), (c)and (d) only
@4 (2, (b) and (d) only

Options :
61547528197. 1
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61547528198, 2
61547525199. 3
61547525200. 4

Question Number : 25 Question Id : 6154757232 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Trefafad # & U oo faftwarett = g ot goq Ry # it aiois frafemes s ¢

fat

() T 3R e % T alis

(b) T, TR SR e H T

(d) gl @ g waEr

(L) = (), () 3 (d) Q) =W (a), (b) 3R (©)
(3) A (a), (o) FR (d) @ F (a), b) F @)
Options :

61547525197. 1
615475258193. 2
61547525199. 3
61547525200. 4

Question Number : 26 Question Id : 6154757233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Regarding E-governance, which of the following statements is [ are correct?

(a)  Decreasing transparency is an ICT enabled advantage of E-Governance.

(by  E-governance is related to the implementation of ICT in the government processes and
functions.

(¢y  Common Service Centres (CSCs) help in providing and using E-Governance related

services.

Choose the correct option :

(1)  (a).{(b). and (¢)
(2)  (b)and (c) only
(3)  (a)and {c) only

(4)  (a)and(b) only
Options :
615475258201, 1
61547528202, 2
61547528203, 3
61547528204, 4

Question Number : 26 Question Id : 6154757233 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

-9 % Heg B 9§ W hiT § YT TE 8 ¢

T S-TITeE 1 Th o7 Ht & i @y 2|

by  S-uEE 1 HeH FOAR ThRST o wEl § od W S % e | w2

() Tl T g (i vE H) -3 HEith Ganed ® STeed T it 36 T H wRh § |

1) (@), ()R () (2) = (b) 3R (c)

@) ¥ (a) 9 (©) @) FIE (a) FR (b)

Options :
61547528201. 1

615475258202. 2
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61547528202, 3
61547525204. 4

Question Number : 27 Question Id : 6154757234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of i;he_-.f@llawing-s.-tat;em,ents-iﬁ- {-are correct?

(a})  Software iz loaded into secondary storage from RAM and ig then executed by
the CPU.

(b) A search engine 1s a software system that 1s designed to search for in-f01f1natimn on

the www,

Choose the correct option :

(1)  (a)only
(2)  (b)only
(3)  Both (2) and (b)

(4)  Neither (a) nor (b)
Options :
61547528205, 1
61547528206. 2
61547528207. 3
61547528208. 4

Question Number : 27 Question Id : 6154757234 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

() TR Tl AR T UH F Yeohell TR § T@T I7ar 2 o e =t ot g gro e g 21

by 7 IE T TR e 2 9 favasmd 39 (57 s&g T56Y) T I q9w FW F forg

SRR Top TR 2 |

D () @ e b

(3) () 3R (b) AT @) (a) 3 (b) T § T FIE TE
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Options :
615475258205, 1

61547525206. 2
61547525207. 3
61547525203. 4

Question Number : 28 Question Id : 6154757235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below 1s a question followed by three statements. Identify the statements that are
necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he sells an article?

Statements :

(@) He gives a 10% discount on the marked price.
(b)  He would have earned 25% profit if he did not give any discount.
(c) The cost price of the article is Rs.8000.

Choose the Qorlae_e.t<.ml?t-iﬂn from those given below :
(1) (a) and (b) only

(2) (b) and (c) only

(3)  (a)and (c) only

4 (), (b) and (¢)

Options :

61547528209, 1
61547528210. 2
61547528211. 3
61547528212, 4

Question Number : 28 Question Id : 6154757235 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A= T W i mn 2 e 9 I Fee e 81 ST TRl TR FE 2 O M % SR % fom

e ER o ST U R e e N AT = (o B S 1 e e B
ELE
(2)  ¥7 Hfod g W 10 Fhowa B2 ST R |

(© = T AT T 8000 T R |

Her a2 3 fomrertt # & vt e g
1)  EE (@) R (b) 2) A (b) AR (c)
(3) A (a) 3R (© @ (a), ) IR (©

Options :
6154752520%5. 1

61547528210, 2
61547525211. 3
61547525212. 4

Question Number : 29 Question Id : 6154757236 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true about a fuel cell?

(a)  Itisadevice that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte

(¢0  Just like batteries it needs to be recharged with an electric current

Choose the correct option from those given below :

(1)  (a) and (b) only
(2)  (b)and (¢) only
(3) (a) and (c) only

4) (2, () and (o)

Options :
61547528213, 1

615475258214. 2
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61547528215, 3
61547528216. 4

Question Number : 29 Question Id : 6154757236 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

o e % A Frafrfim ot 3 9 9 3w 37

(@) o AR 2 o e el s w0 % T frge -wamte sfafE s wE w2

-

152 ¥ wE TR o faer Ee 2

© 0 A o g of frmg v @ = e SW A s 2
ST H W W W HE A

i o i e A @ Y e o = ifre

(L) = (a) 3R (b)

@ e (b R (o)

(B () HR ()

@ @ )
Options :
61547528213. 1
61547528214. 2
61547528215. 3
61547528216. 4

Question Number : 30 Question Id : 6154757237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Congider the following statements with reférence to the proposition "Some girls are not
students”

(a)  Subject term students is distributed

(b)  Predicate term girls is undistributed

(©) Predicate term students is distributed

(d)  Subject term girls 18 undistributed
Choosge the correct option from those given below:

(1) Only (a) and (c) are correct
(2)  Only (b) and (c) are correct
(3)  Only (a) and (d) are correct

(4)  Only (¢) and (d) are correct
Options :
615475258217. 1
61547528218, 2
61547528219. 3
61547528220. 4

Question Number : 30 Question Id : 6154757237 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) e (a) 3 (o) W & @) (b) 3R (o) FE B

(3) A (a) AR (d) WA & (4) e (o) 3N (d) TE B

Options :

61547528217. 1
61547528218, 2
61547528219. 3
61547528220. 4

Question Number : 31 Question Id : 6154757238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Choose two factors that do NOT affect the academic performance of students adversely :

(a)  Low self —efficacy belief
(b) Belief in God.
(c) Indifferent attitude towards politics

_('df) Teacher's low expectation from students
Choose the correct option :

(1)  (2)and (b) only
(2)  (b)and (c) only
3)  (c) and (d) enly
(40 (b) and (d) only

Options :

615475256221, 1
61547528222, 2
61547528223, 3
615475208224, 4

Question Number : 31 Question Id : 6154757238 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a) = e @mA
(c) Tty  wfa S gfewr

(@ et =1 2m § = e

(L) e (a) 3R (b)
(2 A (b) 3 (o)
(3) e (¢) FR ()

d)  FEE (b) HKR (d)

Options :
61547528221. 1

61547528222. 2
61547528223. 3
61547525224. 4

Question Number : 32 Question Id : 6154757239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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‘Which of the two st atements from the fbl_l'nv.ring_ statements are correct?

(a}
(b)
(c)

(d)

Sampling — related error is subsumed under the category non-sampling error

Sampling error doesn’'t occurin multi-stage cluster samphng
Inaccurate sampling frame and non-response are examples of sampling — related
error,

There is an inverse relation between heterogeneity of population and sampling errvor.

Chooge the correct option :

(L)
(2)
(3)
(4)

Options :

(a) and (¢) only

(a) and (d) only
(b) and (d) only
(b) and (c) only

615475258225. 1
61547528226. 2
61547528227. 3
61547528228, 4

Question Number : 32 Question Id : 6154757239 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Tzl T9hed =2

(1) &9 (a) 9K (o)
2) w99 (2) IR ()
3  FIE () R (d)
@  FFF (b) A (o)

Options :
61547528225, 1
61547528226, 2

61547528227. 3
61547525223. 4

Question Number : 33 Question Id : 6154757240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the following historic places with their distinguishing discipline of le arning

List I List II
Historic places Discipline
(2) Takshila ()  Astronomy
() Ujjain (i) Buddhism
(c) Sarnath (1) Art. Architecture and Painting
(d) Ajanta (iv) Medicine

Choose the correct option from those given below :

(D) (@D (b)-(). (©)-(ii). (@-Gv)
@ (@), O-0). (©-Gv). (d)-ai)
(3)  (a)-(n1). (b)-(iv). (e)-(11). (d)-()
@ (@-v). b)-(D). (). (d)-(ii)

Options :
61547528229. 1

615475258230. 2
61547525231. 3
615475258232. 4

Question Number : 33 Question Id : 6154757240 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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P =l @ i 3 3 il R % a gt A

(2) a&REm @ TS e
i G g

i (i) e, 3

(D @@, b)-Gi), (©)-Gi), (d)-(iv)

(3  (@-3iD), (b)-(iv), (0)-(), (d)-@
@ (@-v), B)-(), (©-@D), (d)-(iii)
Options :
61547528229, 1
61547528230, 2
61547528231. 3
61547528232. 4

Question Number : 34 Question Id : 6154757241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the following soil orders with their descriptions

(a) Histosols (i)  Soil order that includes soils formed on
volcaniec ash

(b) Andisols (i) Soil order of cold regions including
soils underlain by permafrost

(c) Gelisols (ii1) Soil order consisting of soils of dry
climates

(d) Aridsols (iv). Soil order consisting of soils with a
thick upper layer of organic matter.

Choose the correct option from those given below :

@M (@-v), )@, (©)GD), [@-(id)
@ (@-@D), B)-Gv), -0, [@-Ei)
B (@-@. b)), (©)-Gi), (@)-Gv)
@ (@-0), 0)-GD, ©-Gv), (d)-Gi)

Options :
61547528233, 1

61547525234. 2
615475258235. 3
61547525236. 4

Question Number : 34 Question Id : 6154757241 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a) %@@a @) H Hql A q 'wa':_mlgigﬁi q et 1@ I
(b) D@”\Fﬁﬁ (ii) TRHTHIES R gq?i gi ﬁ_[c;I ?a'%ﬁ Hﬂﬁ ST
(i) o AR F T FH H G A T FH
dv) o o wwt of S e A

e fom T foekedt | | wE) fomre @ o9 W

@ @), B, ©-D, @-(iD
@  (a)-(), B)-Av), (©)-@), (d)-(ii)
@)  (@-(), (b)-(i), (c)-(il), (d)-(iv)
@  (@)-0), b)-1D), (0)-1v), (d)-{ii)

Options :

61547528233, 1

61547528234, 2

61547528235. 3
61547525236. 4

Question Number : 35 Question Id : 6154757242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List — I with List - IT
List I List 1T
(Digital Initative) (Purpose)

(@) UMANG (1) G2B Services

(b) BHIM (i) Learning platform

(c) eBiz (i) Unified payment interface

(d) SWAYAM iv) Single point of access to all

government services.

Choose the correct option :

(1) (@)-@D), ®)-@), ©)-(ii), [@)-1v)
@) (a)-(id), (b)-(id), (0)-Av), [@)-{)
(3)  (a)-(v), (b)-(iid), (9)-(i), (d)-Gii)
@ (-0, B)-Gv), (0)-G), (d)-(Gi)
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Options :
61547528237, 1

61547528233. 2
61547528239. 3
61547525240. 4

Question Number : 35 Question Id : 6154757242 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e s e 2§ R

(a) ST (i
b (i)
W (v) @R T S e R R R

e TFHH

TE! foheT 1 =9 W

O (@)-GD), B)-0), O, [@)-Gv)
@ (-G, (b)), (©-(v), (d)-G)
@) (@)-v), (b)), ©-(), [@)-Gi)
@ (@-), BV, (©-G), (-Gl

Options :
615475258237. 1

61547528233. 2
61547523239. 3
61547525240. 4

Question Number : 36 Question Id : 6154757243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match correctly the items of Column I with the items of column II

Column 1 Column 11

(a) Ontology (i) Ideographic
(b) Epistemology (i) Realism

(¢) Methodolgy (ii1) Survey

(d) Method (Gv) Positivism

Ch'o_.e'se- the 001'1?ect-...0:ption i

@O (@D, B)-Av), ©)-(ib), @-0)
@ (@)-G), b)), (i), [@)-iv)
B (a)-(iv), (b)-(ii), (©-@), (d)-(iii)
@ (@G, B)-Gv), ©-0), ()i

Options :

61547525241. 1

615475283242, 2

61547525243. 3
61547525244, 4

Question Number : 36 Question Id : 6154757243 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e T 1 -2 & e

(a) AT @)
(b) ST (i) o=
(c) SO fafy (i) wAeT

(d) o (iv) HHRICHBHATE

(1)  (@)-3G1), (b)-(Gv), (c)-(ii), (d)-G)
2)  (@-3D), (b)-A), (¢)-(id), (d)-Gv)
3)  (@)-Gv), (b)-(i1), (e)-Q), (d)-(iii)
(4)  (a)-(i), (b)-4v), (c)-(1), (d)-(1i1)

Options :
61547528241. 1

61547528242. 2
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61547528242, 3
61547525244. 4

Question Number : 37 Question Id : 6154757244 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Select the advantage of feedback in the process of communication. from the following :

(1) It is beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3)  Itclarifies the communication
(4) It explores the defects in receiver
Options :
61547525245. 1
61547525246, 2
61547528247. 3
61547528243. 4

Question Number : 37 Question Id : 6154757244 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1 & & w1 e & S o g

(D) 7 Ty g § e R (2) T= el i wiEE = fem e R
(3) ¥ TN I TIE HAT B (4) TE g i HEET H BHEE AT

Options :
61547525245. 1

61547525246. 2
61547525247. 3
61547525243, 4

Question Number : 38 Question Id : 6154757245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the following values with their ".iﬂi'sti’iig_ﬂighiﬂg" functions :

@
®)

)
@

Last [

Sacrifice

Sincerity

Self control

Altruism

@)

)

(1ii)

(iv)

Choose the correct option from those given below :

(1)
@)
()
@

Options :

(a)-(1), (b)-(), (0)-(Gv), (d)-(iii)
(8)-(1v), (b)-(0), (©)-(i1), (@)-(iii)
(a)-(ii1), (b)-(iv), (¢)-(i), (d)-(i)
(2)-(0), (b)-Gib), (0)-(ib), (d)-(iv)

615475252498. 1
61547525250. 2
61547525251. 3
61547528252. 4

List IT

Working in a stipulated time
Confinement of individual mind on
action

Showing love and affection

Helping without selfish motives

Question Number : 38 Question Id : 6154757245 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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frefafaa qoat =1 o fafde et & @y gafea $ifm
() e fem (iii) I 3% oTgE WEia W
(@

1) (@), (b)), ©)-Gv), (d)-(iii)
@ @), B)-G), ()G, (d-(iiD)
@) (@-3i), (b)-iv), (©)-0), (d-G1)
(4) (a)-(1), (b)-(iii), (¢)-(Gi), (d)-(iv)

Options :

615475258249, 1
61547528250. 2
61547528251, 3

61547528252, 4

Question Number : 39 Question Id : 6154757246 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end? " | " |
(1) Protocol, domain name of the host, path / file
2) Path / file, protocol, domain name of the host
(3)  Protocol, path /file, domain name of the host
4 Domrain name of the host, protocol, path / file

Options :

61547528253, 1

61547528254, 2

61547528255. 3

61547528256, 4

Question Number : 39 Question Id : 6154757246 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) Wi, B % SHA 1 7M, 19/ FEA
@) /e, S, 2w % S = A
(3) , 191 /BT, B %3 :cﬁﬁq T
(4) T % THA H AW, TR

Options :
61547528253. 1

61547525254 2
61547528255, 3
61547525256. 4

Question Number : 40 Question Id : 6154757247 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(L) Gravel, Silt, Clay, Sand (2) 8ilt, Clay, Gravel, Sand
3)  Clay, Silt, Sand, Gravel (4) 8ilt, Clay, Sand, Gravel
Options :

61547525257. 1
61547528253. 2
61547528259. 3
61547528260, 4

Question Number : 40 Question Id : 6154757247 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

H W I TSGR Bl HAHEL Y & ATHER & 71 %‘w"iﬂwl % FH H TEIH BT a?

2 e, Wed, a9, =R
4) R, ﬁgfr, S, ﬂmfi_;

Options :
61547525257. 1

615475282538. 2
6154752582598. 3
61547525260. 4

Question Number : 41 Question Id : 6154757248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem
(2)  Reviewof Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion
(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion

Options :
615475258261. 1

61547528262. 2
61547528263. 3
61547525264, 4

Question Number : 41 Question Id : 6154757248 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Y -HAME] ! MA-T6E § TEGd L T99 {69 37 § S0 ST 2 7
(1)  ufeEt, wfees i wden, ofomg, SEURT ST, FEHE

(2) xe T T, TS, ST S, o, gie

(3) e, mf%?q Eﬁ mﬁan B-THWT[ qT, trﬁaiﬁ

Options :
61547525261. 1

61547528262, 2
61547528263. 3
61547525264, 4

Question Number : 42 Question Id : 6154757249 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :



wWww.prepp.in .repp

Your Personal Exams Guide

Given below are two statements - one is labeled as Assertion (A) and the other is labeled as
Reason (R):

Asgertion (A):  Through on-line teaching a large number of students can be taught by very

competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.
In the light of the above two statements choose the correct option =

(I)  Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3)  (A)istrue, but (R) is false

(4)  (A)is false, but (R) is true

Options :
61547525265 1

61547528266. 2
61547528267. 3
61547525263 4

Question Number : 42 Question Id : 6154757249 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A 3t e fou g - errrem Q) SRR T R) 2 -

Afred (A): o o Rew % wreEm @ agd gRE-gRE g0 S §e | SOl F e o
Tl E |

e

T R) 51 B R R o M B i e s e | 2 e T T e

SuHFa T o SATeleh § Hal Taeked 61 oo W

(L) (A S (R) T TR E S (R) (A) i e = 2|
@ (@)=t ®) 3HHE E g R) (A) i wE T T 2
B Qg ®TEEE
“) (A) TET ® FoRg (R) FET R
Options :
61547528265, 1
61547528266, 2

61547528267. 3
61547525263 4

Question Number : 43 Question Id : 6154757250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) : A blog isa form of social media.

Reason (R) : A blog allows anyone to communicate to a public audience.
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) ave true and (R)Is the correct .e};p:lana‘tir}n of (A)

(2)  Both (A) and (R) ave ture and (R) is not the corvect explanation of (A)

(3) (A) is true, but (R) ig false

@)  (A)is false, but (R) is true
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Options :

61547528269, 1
61547528270. 2
61547528271, 3
61547528272, 4

Question Number : 43 Question Id : 6154757250 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ApaR (A): s Hiore HifeTW 0 w0 2 )

@ (R) : SAM o HIEAH | IS SAlaq o9 F9a1 8 97d T AT 2 |

ST 31 T % STrs § wa foeen W = W

(1) (A) =R (R) g1 @& £ 3 (R) (A) i W&l =ame 3
@ (@I @) I E SR (R) (A) e T g
B) (A= E TRy R) T R

@ (AT g g (R) TE1 2 |

Options :

615475258269, 1
61547528270. 2
61547528271, 3
61547528272, 4

Question Number : 44 Question Id : 6154757251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements - one is labeled as Assertion (A) and the other is labeled as
Reason (R):

Assertion (A) :  Skill development is a key feature in every individual’s life,

Reason (R) ¢ Anindividual who wants to get employed, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is trus, but (R) ig false
4) (A) is false, but (R) is true

Options :

61547528273. 1
61547528274. 2
61547528275. 3
61547528276. 4

Question Number : 44 Question Id : 6154757251 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

1 g whem fim T §- T T PR (A) 3R gE R 9 (R) R R

AYFIT (A):  Tedh A o Sien | st foeed v uae At § |

e 2 el % e, T e g -

1) (A) W R) T FE F N (A) FiwE = (R) R 17
@  (A) e R) A E g, (A) T s ®) T R
3) (AT R, WG R) T R
@ @), g (R) ¥ R
Options :

615475258273. 1
61547528274. 2
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61547528275, 3
61547528276. 4

Question Number : 45 Question Id : 6154757252 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A):  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India ‘which do not ‘provide

quality education.
Tn the context of above two statements, choose the correct option :

(1)  Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) ave true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true
Options :

61547528277. 1

61547528278, 2

61547528279. 3

61547528280. 4

Question Number : 45 Question Id : 6154757252 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
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A TR ¥ o 3= e & il Tt

AR (A): YA R 3 e e gRf

% (R) : WA frgbs_& RNeaforer wEAH T B W O o1 fRrear e TE S E

@ (AR R) I A E ok (A) Hi 7 = R) E)

@ (@) IR R) I T R, (A) WS = (R) TR
@) (A =& 2 =, (R) T 2

@  (A)TER B, (R) TR R

Options :

61547528277, 1
61547528278, 2
61547528279. 3
61547528280, 4

Sub-Section Number: 3
Sub-Section Id: 615475322
Question Shuffling Allowed : Yes

Question Id : 6154757253 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehensic:n
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Read the following passage and answer questions which follow.

Eventhough globalisation is ore of the most discussed topics in the contemporary world. it is
not altogether a well defined concept. A muitltude of glnbal interactions are put under the
broad heading of globalisation, varying from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business. it
would also cut out movements of ideas: under standing. and knowledge that can help all the
people of the world, including the most disadvantaged members of the world papul&tmn A
compr ehensive ejection of globalisation can thus be powerfully counter productive. There is a
gtrong need fo sepalate out the different queqtmns that appear merged together in the
rhetoric of the antiglobalisation protests. The globalisation of knowledge deserves a
palrtlcularh hlgh profile mcmgmtmn desplte all the good things that can be rightly said
about the importance of “Local knowledge”.

Globalisation is often seen. both in journalistic discussions and in remarkably 'many-

academic writings. as a process of westermzatmn Indeed. some who take an upbeat view of
the phenomenon even sees it as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 6154757254 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the passage, which one of the following is not a well defined concept?
(1)  Multiculturalism
(2)  Identity
(3)  Globalisation
(4) Local Knowledge

Options :
615475238281, 1

615475258282. 2
615475258283. 3
61547525284. 4

Question Number : 47 Question Id : 6154757255 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the passage, which one of the following is counter pmductive?
(1) Comprehensive support to globalisation
(2) Wholesale rejection of globalisation
(3) Comprehensive rejection of anti — globalisation protests
(4)  Recognition of local knowledge systems

Options :
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61547528285, 1
615475258286. 2
61547528287. 3
61547525283 4

Question Number : 48 Question Id : 6154757256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Aecording to the passage, globalisation is perceived often by media and academia as :
(I)  Supporting local knowledge systems
(2)  Detrimental to local knowledge systems
(3) A process of Westernisation
(4) A process of facilitating global bussiness

Options :

61547528289. 1
61547528290. 2
61547528291, =
61547528292, 4

Question Number : 49 Question Id : 6154757257 Question Type : MC(Q Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options :

61547525293. 1
61547525294. 2
6154752582895. 3
61547525296. 4

Question Number : 50 Question Id : 6154757258 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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As per the passage, a wholesale rejection of globalisation would result in affecting

(3:) Glﬂb'&l ]’:_)_usine_s-s_gs
(b) Movement of Ideas

(c)  Local knowledge systems

Choose the correct answer from the options given below :

(1)  (2) and (b) only
(2)  (a) and (c) only
(3)  (¢) and (b) only
4) (), () and (¢)

Options :

61547528297, 1
61547528298, 2
61547528299, 3
61547525300. 4

Question Id : 6154757253 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (46 to 50)
Question Label : Comprehensi-::zn

:‘«lﬂﬁHHmIMH mwnaﬁmumamaﬁaaﬁiﬁqmnaarrfﬁmanmqﬁmquﬁmﬁaﬁnm
Lt [ C it o e e e el o R o e i i) s o - {Gﬂmtg ﬁk—o{ T TR+ I
;wmﬂq%%%qﬁmwﬁma@%maﬁvwﬁﬁmmﬁ%ﬁ;ﬁ | v w A inE W
SFREET 7 A qteqorW%ﬁlEWﬁﬁ%WW Wmﬂﬁ*' el *‘““mﬁw
ﬁrﬁ‘-ﬁwﬁww o A O ﬁﬁm ?Eﬂﬁiii*c-tth e = -uuuﬂ T oo 9T Tl 2, Jdre
i AF ST TR WAt 7 Ul & g TR SRS & | BH A mﬁma%q%mzﬁ
_Wﬁmﬁ%ﬁwﬁmﬁWHmsﬁtmﬁﬁﬁtwmaﬁﬂwnw =81 9, T
‘T T % UEe B AR A W HE S ARl 2, mwmﬂwaﬁwﬁam%rﬁm

-%r—aﬁwwqaqaumlmiwlaﬂaﬁtmwzﬂéwﬁmwﬁmnmﬁﬂwmuﬁmmwn
TS I R | 9 A S0 38 e e oE § o 2 3 o @ fawa e e w6
s TP
T 7 |

Sub questions

Question Number : 46 Question Id : 6154757254 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
615475252381. 1

61547528282. 2
61547528283, 3
61547525284 4

Question Number : 47 Question Id : 6154757255 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

T % ST EIRAT | T T FRE & 7

(3) AT gee A o swEtwa (4) s T agiet @ e

Options :
61547528285. 1

61547525286. 2
615475258287. 3
61547528288, 4

Question Number : 48 Question Id : 6154757256 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) v e g e e (2) =UFE T Tgh 5 R et
(3)  WITETEIEnOT < T WisHAT (4) fowa =R H G T S TH AT
Options :

61547525289. 1
61547525290. 2
61547525291. 3
61547525292, 4

Question Number : 49 Question Id : 6154757257 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

L

T T ST co T o G e .
e O wigs 3 HeiEied © § g W B a e

(1) gm0 167 91d aHed (2) Avelwor = T v SRR

(8)  THT T WO Y AT 9 ETER AT (4)  dTeTT 1 9aTE fed gedie w |
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Options :
61547528293 1

615475258294. 2
615475258295. 3
61547525296. 4

Question Number : 50 Question Id : 6154757258 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TEITST o SATHR TSR Ta9g o1 g Ui R EHIFR A1 Heaiad § 9 e g9iiaa sam ¢

(a) STEH AR

F= 8 T freredt 3 9 WA I = il
1) 99 (a) W (b)

@) FEE (2) R (o)

B  FEE (o) HR (b)

@ (@, ) IR ()

Options :
61547528297, 1

61547528293 2
615475258299. 3
61547528300, 4

FPART Il Managerment

Section Id : 61547598
Section Number ; 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questions to be attempted: 92
Section Marks: 2000
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1

Sub-Section Id: 615475323
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Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154757259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mergers and acquisitions are example of which strategy of Ansoff (2 x 2) matrix?
(1) Present Product — Present market
(2) Present Product — New market
(3)  New Product — Present market

(4) New Product — New market

Options :
61547528301. 1

615475258302. 2
61547525303. 3
61547525304, 4

Question Number : 51 Question Id : 6154757259 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
faem (Merger) T a1feman (acquisition) THIw (2 x 2) Afzwm Hi wi—h fift =1 wamm 27

(1) addH 34916 — 9qA11 960

(3) T ITIG —THMA AL

(4) AT ITHE — T SR
Options :
61547528301. 1
61547528302. 2
61547528303. 3
61547528304. 4

Question Number : 32 Question Id : 6154757260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following statements is true?
(1) The desire for a commodity backed by ability and willingniess to pay is demand
(2)  Decrease in input prices causes a leftward shift in supply curve
(3) Demand for car and price of petrol are inversely related
(4)  Most demand functions are of the form, D=a+bP
Options ;
61547528305, 1
61547528306, 2

615475258307. 3
61547525303. 4

Question Number : 32 Question Id : 6154757260 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frerforiaa & = - wu" 7 37
(2) T (STHE) Hedl W BT H A gkt # AHA e B B

(3) R Fi AR i U2re i Fa R

(4) AR AT RS D= +bP % WY % 3

Options :
61547525305. 1

61547525306. 2
615475258307. 3
615475253038. 4

Question Number : 33 Question Id : 6154757261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In micro economics which among the following sequence in respect of internal issues of the
business firms is correct?

(1)  What to produce, how to produce, how much to produce, how to determine price of
product.

(2)  What to produce, how much to produce, how to produce, how to determine price of the
product

(8)  How mueh to produce, what to produce, how to produce, how to determine the price of
the product
produce

Options :

61547528309. 1
61547528310. 2
61547528311. 3
61547525312, 4

Question Number : 53 Question Id : 6154757261 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

+
A

(mﬁ'?i ghIHaE) § He=f

d § & =91 FH SHOHTRERE Shidl & STais arE«]

T8 JYIME
(1) = SEIeA L, HH SeATed i, FRa Seare =R, T Seug 6 Hew i W
(2) T STUEA R, TRAAT SEURA W, HE STAGH T, Y SEIR T G [HUiE W
(3 %ﬁmm T, FIT IATCT HL, Y IeATET HY, HH IS a Rt =

(4) 0 IONGA T, TR STGH i, HH SCUIG 1 oI i =L, HH IT6T T

Options :
61547528309 1

61547525310. 2
61547525311. 3
61547525312. 4

Question Number : 54 Question Id : 6154757262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following is the sequence of selection?
(1)  Application blank, initial interview, employment tests, final interview, checking
references, physical examination
(2) Application blank, employment tests, initial interview, checking references, physical

(3) Employment tests, initial interview, checking references, physical examination, final
interview
4) Employment tests, initial interview, checking references, final interview, physical
examination
Options :
615475258313. 1
615475258314. 2

615475258315. 3
61547525316. 4

Question Number : 34 Question Id : 6154757262 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(2)

e B o
(8)  THEISH S, 3N

~

TR HIETTChIT, |eH i, o

o ™

(@)  Toaem ite, sifow wamesr, Hed oite, sifaw waresy, s S

Options :

615475258313. 1
61547528314, 2
61547528315. 3
61547528316, 4

Question Number : 55 Question Id : 6154757263 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the -fc:llmﬁ_.r-ing is closest to the nature of decision making?
(1) Decision on a particular course of action
(2)  Too self evident requiring an-answer
(3)  Deciding on a choice after a series of brain storming
(4)  The process of identifying problems and opportunities and then resolving them

Options :
61547528317. 1
61547528318. 2

61547525319. 3
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61547528320, 4

Question Number : 55 Question Id : 6154757263 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

freafertias o @ == Fobr o 5 et 5 w8 g 27

(1) Treft fasiy ks w fota o
(3)  TommmEem (Brain Stovming Series) % o Foet fwes w wemw 2
(4) e S sEad F uesr o uhee % ava a9 R B
Options :
61547528317. 1
615475283183, 2

61547525319. 3
61547525320. 4

Question Number : 56 Question Id : 6154757264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A forecasting technique in which the group consists of persons who are physically dispersed
and are anonymous to one another 1s called

(1)  Delphi Technique (2) Brain Storming Technique
(3)  Heuristic Ideation Technigue (4) Decision Tree Technique

Options :
61547528321. 1

61547528322. 2
61547528323. 3
61547525324. 4

Question Number : 36 Question Id : 6154757264 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e YEET Tt T o g o W wEE B el | uE-gm § swi B, ®een B -

(1)  SFEr (Delphi) TFA® (2) AETREH (Brain Storming) g+
(3)  TEw: g (Heuristic) T@1% (4) T g4 (Decision Tree) TF1®
Options :

61547525321. 1
61547528322. 2
61547528322, 3
61547525324. 4

Question Number : 57 Question Id : 6154757265 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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Which one of the following is NOT correct in case of indifference curves?
(1) Indifference curves slope downward to right
(2) Indifference curves of imperfect substitutes are convex to the origin
(3) Indifference curves neither intersect nor are tangent to one another
(4)  Lower indifference curves indicate a higher level of satisfaction.

Options :
61547528325. 1

61547528326, 2
61547528327. 3
61547525323. 4

Question Number : 57 Question Id : 6154757265 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

frfetaa & & #F oFtmE (Indifference) 56 o 7S § T8 Hj‘T 27

(1) S @56 6t gler qravred! STEngat g 2

(2) oIS 1 SFATIE o6 T < IFAEL B B

(3) ﬁquﬁr@-@‘im chlc.cn% ?Fﬁt{% @i?ﬁrmﬁm%l

Options :
61547528325. 1

61547528326, 2
61547528327. 3
61547525323. 4

Question Number : 5§ Question Id : 6154757266 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ; 0
Human Resource selection is concerned with
(1)  The activity to select a suitable pool of candidates
(2)  Always being simulated by the departure of an employee
(3)  Always ascertaining a candidate’s personality to ensure a suitability fit

(4)  Applying appropriate technique to select.a candidate

Options :
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61547528329, 1
615475258330. 2
61547525331. 3
61547525332. 4

Question Number : 58 Question Id : 6154757266 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) T % T ST WE o T 6 e

@ et % == 6 o sugs fafa e s

Options :
61547528329, 1

61547525330. 2
61547525331. 3
61547525332. 4

Question Number : 39 Question Id : 6154757267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Human Resource Management (HRM) helps build successful cross border alliances by
ensulm o that
(1)  Organisation spends 20 percent of their HR budgets on eross border alliances
(2)  Astrategy is in place before embarking on a eross border alliance
(3)  Organisations that export their ideas to other societies and cultures
(4) International joint ventures are staffed by hlgh quality managers

Options :
61547528333. 1

61547525334. 2
615475258335. 3
61547525336. 4

Question Number : 59 Question Id : 6154757267 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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oA TR Tae (HRM) & = g

T T B ST -FferE (Cross Border Alliances) I |

(1) e S o e wanes (HR) s %7 20 fiwra arer-wf e o g w2

(3)  ®eA S T T qEL WHIS Q9T SH Al 9% TEed ¢

- ShH %i’%—m 3= 10

(4)

Options :
61547528333, 1

61547525334. 2
61547528335. 3
61547525336. 4

Question Number : 60 Question Id : 6154757268 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) Ratio analysis (2) Trend analysis
3)  Gapsanalysis (4) Replacementcharts
Options :

61547525337. 1
61547528333. 2
61547528359, 3
61547525340. 4

Question Number : 60 Question Id : 6154757268 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Corre{:t Marks 2 Wrong Marks :

EESITSIRER! ﬂ@raﬁq%ﬁr ST | HEE HATE &ﬁw%w%wwmﬁ%?

(3) T fowe (4)
Options :

61547525337. 1
61547528333. £
615475258338. 3
61547528340, 4

Question Number : 61 Question Id : 6154757269 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Why has the bureaucratic form of organization been fundamentally questioned?

(D Pressure of Globalization has rendered it unsuitable

(2) Organizations are experiencing acute pressure to change and pursue innovation as a
means of securing business growth

(3) Organizations have grown so large that it is almost impossible to create an effective
bureaueracy to manage them

(4)  Information Technology has made it redundant

Options :
61547525341. 1

61547528342, 2
61547525343. 3
61547525344, 4

Question Number : 61 Question Id : 6154757269 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) 91 % g 4 T ST S o B
T TR B
(3) ST 9 SR TAAT 92T A T & TR 3 wEem B meet sveeed

4 g eI ¥ = STTEhE S 2

STRER TITE T TS e T HEd: 9 w4 ST o & ¢

- IR AT A STEEE 2

Options :
61547528341. 1

61547528342. 2
61547525343. 3
61547525344, 4

Question Number : 62 Question Id : 6154757270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

()  China (2) Pakistan
(3)  India (4) Japan

Options :
61547528345, 1

61547525346, £
615475258347. 3
61547525343. 4
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Question Number : 62 Question Id : 6154757270 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
() == (2) ifeREaTE
(3  una @) =

Options :
615475238345, 1

61547525346. £
615475258347. 3
61547525343. 4

Question Number : 63 Question Id : 6154757271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Human Resource (HR) procedures provide for an important element of consistency in-which
‘managerial perspective?

(1) Direction (2) Strategy
(3)  Decision Making (4) Recruitment
Options :

61547525349. 1
615475258350. 2
615475258351. 3
61547525352. 4

Question Number : 63 Question Id : 6154757271 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : [I'_ _ _
e T (T STR) SRS e % R & § FRaaT o TEcaqnt g S T i 87

(1) - @)
(3 o (4) it
Options :

61547525348. 1
61547525350. 2
61547525351. 3
61547525352. 4

Question Number : 64 Question Id : 6154757272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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In Queuing Theory. statistical pattern by which customers arrive over a period of time.
follows | |

(1)  Binomial distribution (2) Normal distribution
(3) Poisson digtribution (4) Long-normal distribution
Options :

615475258353. 1
61547525354. 2
61547528355. 3
61547525356. 4

Question Number : 64 Question Id : 6154757272 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) g (Binomial) e (2) WAFE A
(3) T e (4) -t B
Options :

615475258353. 1
61547525354. 2
615475258355. 3
61547525356. 4

Question Number : 65 Question Id : 6154757273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is a correct description of attitude?

(1)  Attitudes are learned.

(2)  Attitudes are organized and are core to an individual.
(3) Attitudes are the major determinants of human behaviour.

(4) Attitudes are beliefs. feelings and action tendencies of individual toward objects.
1deas and people.
Options :
61547528357. 1
61547528358, 2
61547528359, 3
61547528360. 4

Question Number : 65 Question Id : 6154757273 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547528357, 1

6154752583538. 2
61547525359. 3
61547525360. 4

Question Number : 66 Question Id : 6154757274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Homogenous subsets in the sampling are called

(1) Clusters (2) Samples
(3)  Sample sizes (4) Strata
Options :

61547525361. 1
61547528362. 2
61547528363. 3
61547525364 4

Question Number : 66 Question Id : 6154757274 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

9 SU-THE (Subsets) T AT &

T2 (Clusters) (2) e
(3)  TIGR SRR (4) T

Options :
61547528361, 1

615475258362. 2
61547525363. 3
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61547528364, 4

Question Number : 67 Question Id : 6154757275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Customer Life Time Value (CLV) in the first year is

(1) CLV (1) = m» Avd 2 CLVD)=m+-—- i+ d)
3 CLV@Q)=m a-a 4 CLV@)=m _xx_(l =

Options :
61547528365, 1

615475258366. 2
61547528367. 3
61547528368, 4

Question Number : 67 Question Id : 6154757275 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U9 T9 ¥ Ued SaT we S R (Customer Life Time Value) &

1) CLV (1) =mx a +d). (2) CLV(Q)=m+ 1+d)
: gk g T . AN — 4 &
3) CLV (1) = m i d 4) CLVQL)=m i d)

Options :

615475258365, 1
61547528366, 2
61547528367. 3
61547525363, 4

Question Number : 68 Question Id : 6154757276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
When an activity is not connected to any of intermediate or end event and has no bearing on
the project completion. is known as

(1)  Dangling (2) ‘Looping
(3)  Dummy (4) Slack
Options :

61547525369. 1
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61547528370, 2
61547528371. 3
61547525372. 4

Question Number : 68 Question Id : 6154757276 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

& B, T Fee A o S ST e

(1) @)
3 = (4)
Options :
61547528369, 1
61547528370, 2

615475258371. 3
61547525372. 4

Question Number : 69 Question Id : 6154757277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to which of the fﬁlll'-nwing,_:coﬁcept-. it is presumed that business will continue its

operations for long time?

(1)  Accounting period concept (2) Realization concept

(3) (Groing coricern concept (4) Separate entity concept
Options :

61547528373. 1

61547528374, 2

61547528375. 3

61547528376. 4

Question Number : 69 Question Id : 6154757277 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e 5 Ft oo 3 srgare e 7 e o e e o

(8)  Totawar ft "pew (Going Concern) @) o9 AT W FheT

Options :
61547528373. 1

61547528374. 2
61547528375, 3
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61547528376, 4

Question Number : 70 Question Id : 6154757278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sale of long term investment shows

(1) Application of funds (2) Source of funds
(3) Change in current assets (4) Change in current liabilities
Options :

61547528377. 1
61547528373. 2
615475258379. 3
61547525380. 4

Question Number : 70 Question Id : 6154757278 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1) Tl = smEe @) FfeE w Em
(3) e e § ufEe (4) TR TEsl § uREA
Options :

615475258377. 1
61547528373. 2
61547528379. 3
615475253380. 4

Question Number : 71 Question Id : 6154757279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Total Asset Turnover Ratio and Total Assets to Networth Ratio of Kuber Ltd. are 1.75
and 2, respecfively. If the Net Profit Margin of this company 1s 8%. ‘What 1s the Return on
Equity (ROE)?

(I  0.20 (2) 0.25
(3) 0.22 (4) 0.28
Options :

61547525381. 1
61547528382. 2
615475258383. 3
61547525384 4

Question Number : 71 Question Id : 6154757279 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

For fofes &t T wofa oM o fosh! 1 ST aun Fo werra o frae weaf @ sra s 1.75
AR 2 81 R 59 St wn fraw ey mRi 8% #, A R w1 fred (o o €) w37

(1) 020 (2) 0.25

(3 022 W 08

Options :

61547528381, 1
61547528382, 2
61547528383, 3
6154752063284, 4

Question Number : 72 Question Id : 6154757280 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Net Income approach to valuation is based on which of the following assumption?

()  There are taxes and cost of debt is less than cost of equity
(2) There are taxes and use of debt does not change the risk pereeption of investors
(8)  There are no taxes and use of debt changes the risk perception of investors

(4)  There are no taxes and cost of debt is less than the:cost of equity and the use of debt
does not change the risk perception of investors.

Options :
615475253385. 1

61547528386, 2
61547528387. 3
61547525383. 4

Question Number : 72 Question Id : 6154757280 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

TeATH T 110, A 3119 SUH et § W TRY qeemen W S 7

(1) = B/ 99 9 i TP 3102t I PG § B T B

(2) R ?ﬁ% 23 ERuiEa I e %ﬁ}%ﬂmﬁ 5 fa;'i%-qf{qéﬂ :r.??l a1 2|
(3) Y T AT 2 U1 FT W I P Siha e § wfEdd e )

B

(4 BB W T A 2 G FE e T e O w2 A E9 ) s R
S witg | T TE R g

Options :

61547528385. 1

61547528386. 2

61547528387. 3
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61547528388, 4

Question Number : 73 Question Id : 6154757281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Wthh of "'th'e: fﬁllowing is.gap-t]y. descmbedby {2/1()? net 30’2

(1) Credit policy (2) Credit standards
(3)  Credit terms (4) Collection policy
Options :

61547528389, 1
61547525390. 2
61547525391. 3
61547525392. 4

Question Number : 73 Question Id : 6154757281 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1§ T TeRaeRT ‘2/10 92 30” 3T SUERE U TR ST 2 7

(2) B HEE

(4) =g g

Options :
61547528389, 1

615475258390. 2
61547525391. 3
61547525392. 4

Question Number : 74 Question Id : 6154757282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The major factor that allowed Portfolio Theory to develop into Capital Market Theory is

(1) Rizsk free asset (2) Homogenous expectations
(3) Infinite divisibility of assets (4) Absence of taxes and transaction costs
Options :

61547525393. 1
61547525394, 2
615475258385. 3
6154752839€. 4
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Question Number : 74 Question Id : 6154757282 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(3)  enfwrEt F o fyursTa ()
Options :

61547525393. 1
61547528394, 2
615475258395. 3
61547525396. 4

Question Number : 75 Question Id : 6154757283 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
When managers commit errors of over optimism in evaluating merger opportunities due to
excessive pride or animal spirit is termed as

(1)  Managerialism (2) Information Signaling
(3) Hubris Hypothesis (4) Sitting on gold mine
Options :

61547525397. 1
61547525393. 2
61547528399, 3
61547525400. 4

Question Number : 75 Question Id : 6154757283 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
o e St g A (e ffe) oo fem e seeRt g ww S e

(1) BEELEEIE (2) =T HhaH
(3) %ﬂ%‘ﬁ (4) EHH TE | ST
Options :

61547525397. 1
61547525393. 2
61547525399. 3
61547525400. 4

Question Number : 76 Question Id : 6154757284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

Which of the following methods of eapital budgeting is best suited for leveraged projects?

(1) Net present value (2) Internal rate of return
(8)  Accounting rate of return (4) Profitability index
Options :

61547525401. 1
615475258402. 2
61547525403. 3
61547525404, 4

Question Number : 76 Question Id : 6154757284 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fmtafaa & | I s=ifen A FF =@ &5ty o S Tpfaa A = gl aiEsmet (siass Tee)

fl) [CERRCEEIC! qeq (2) BT T €
(3) TG WY R (4) THICH IR
Options :

61547525401. 1
615475258402. 2
61547525403. 3
61547525404, 4

Question Number : 77 Question Id : 6154757285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When e ach coupon payment and the-"rede_mptiﬁn_ value of bond are detached and are issued
‘as separate and independent instruments are called

(1) Coupons (2) Strips
(3)  Certificates (4) Warrants
Options :

61547525405. 1
61547525406. 2
615475258407. 3
61547525403. 4

Question Number : 77 Question Id : 6154757285 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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®» T 2 =
(3)  =iThohea (4) =We
Options :

61547525405. 1
61547525406. 2
615475258407. 3
615475254083. 4

Question Number : 78 Question Id : 6154757286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The effect of continuous compounding is captured by

(1) Present Value x e (2) Present Value x ™
(3)  Present Value/e™ (4) Future Value x "

Optfuns $
61547528409, 1

61547525410. 2
61547525411. 3
61547525412. 4

Question Number : 78 Question Id : 6154757286 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

3 2 B T I T T g 37

(1) CLEIE| T x e (2) T T X G
(8)  FaHE A/ e @) g x e

Options :
61547528409, 1

61547525410. 2
61547525411. 3
61547525412. 4

Question Number : 79 Question Id : 6154757287 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Public Relations as a part of pmmotion__in,m-arke;ting*r_efer_s to
(1) Management of reputation of the company

(2) Promoting products/brands of the company

(3)  Managing an event of the company

(4)  Conducting publicity campaigns around relevant issues

Options :
615475258415. 1

61547525414. 2
61547528415, 3
61547525416. 4

Question Number : 79 Question Id : 6154757287 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
(1) <o <A T vEeE

Options :
615475258415. 1

61547525414 2
615475258415. 3
61547525416. 4

Question Number : 80 Question Id : 6154757288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is NOT the characteristic of “Hyper Competition™?

(1) Cﬂmpetitiﬂns;get- bold. aggressive andi"hast-il_e--with :.djrnamic movements

(2) Shorter Product and design life cycles

(3) Uncertainty in business € nvironment increases: alon_g swith -hetemgenibi_ty
(4)  Financing cost becomes high

Options :

61547528417. 1
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61547528418, 2
615475258419. 3
61547525420. 4

Question Number : 80 Question Id : 6154757288 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1)
(2) eﬁ‘w Bl I AR
(3) W%%@ﬁ%ma—mexaﬁ%ﬁma@?ﬁ%‘l
(4) %ﬁq‘lw it T At 7 S 2

Options :

615475258417. 1
61547528418, 2
61547528419. 3
615475208420. 4

Question Number : 81 Question Id : 6154757289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

Concept testing, test marketing and product testing are parts of which of the following?

(1)  Innovation — Diffusion process (2) Produect life cycle
(3)  New Product development (4) Market development
Options :

61547525421. 1
615475238422. 2
61547528423. 3
61547525424. 4

Question Number : 81 Question Id : 6154757289 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

H 9 foraes wm g7

(3) U IR N THE 4) = e

Options :
61547528421. 1
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61547528422, 2
61547528423. 3
61547525424, 4

Question Number : 82 Question Id : 6154757290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Modern organised retail business has a mulﬁtude.of formats. These formats can be--.classi’fied
according to theé following :

(1)  Merchandise offered only
(2)  Size of the store area only
(3)  Customer groups only
(4) Merchandise offered and size of the store area
Options :
61547528425, 1
61547528426, 2
61547528427. 3
61547528428, 4

Question Number : 82 Question Id : 6154757290 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

MY FIiea GaT SIoEE % R BiAE 8] 3 B fHmfaian § @ 5 omen afiea ey o w27

(1) St Uw Eﬂﬁé (2) e TN AR
(3)  <hoH UTEH T (4) U B TE TXGY AT TAL H ATHR AL

Options :
61547528425, 1

61547528426. 2
61547528427. 3
61547525423. 4

Question Number : 83 Question Id : 6154757291 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Service Quality GAPS model proposed by Parasuraman et.al., Gap 4 refers to

(1) Difference between the service level expected by the customer and the service level
received by customer

(2)  Difference between the service delivered and the promise made to the customer

(3) Difference between the service specifications adopted and service guality actually
delivered

(4) Difference between the service expectations and service specifications given by the
customers.

Options :

61547528429, 1

61547525430. 2
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61547528421, 3
61547528432. 4

Question Number : §3 Question Id : 6154757291 (Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

7 T o g e wfeE wifet e Atew o fu 4w g a2

(1) T g STfer Ha Ty oi S/ W a1 W1 F i A

(2)  TTEE G T Fa S T fobw e g % e et

(3) o e e fafEEt i areas # € e Y o % S s

(4)  TTE T HaT HEHT AN K IAF GRT QT T FAT G 6 SE 1 AR

Options :
6154752842%5. 1

61547528420, 2
615475258431. 3
61547525432. 4

Question Number : 84 Question Id : 6154757292 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The system that provides an organisation with sophisticated planning and control
functionalities, greater connectivity to its suppliers. business partners and customers is
described as

(1)  Customer Relationship Management (CRM)
(2)  Manufacturing Resource Planning (MRP)
(3) Enterprise Resouree Planning (ERP)

(4) Economic Order Quantity (EOQ)

Options :

615475258433, 1
61547528434, 2
61547528435, 3
61547525436, 4

Question Number : 84 Question Id : 6154757292 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

az Tl S fordt e o freee frsm oft frer it wEn srers F # qun s\ smfiewate,
S e aﬁ'{uma%%m %S?r{w% IUCTS T %,, aswla%wcﬁ %?
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Options :
615475258435. 1

615475258434. 2
61547528435. 3
61547525436. 4

Question Number : 85 Question Id : 6154757293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The situation of simultaneous satisfaction of row minima and eelumn minima rule is termed
(1)  Unboundedness

(Z)  Infeasibility

(3)  Degeneracy

{d)  Postioptimality analysis

Options :
61547525437. 1

615475258433. 2
61547525439. 3
61547525440. 4

Question Number : 85 Question Id : 6154757293 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)
(2)
()  Tr-sieak

Options :
61547528437. 1

61547528458, 2
615475258439. 3
61547525440. 4

Question Number : 86 Question Id : 6154757294 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (

Which of the following information s}'stema at the management level of an organisation
serves the functions of planning, controlling and decision making by providing routine
summary and exception reports?

(1) B__Iangg'_en-l"ent;.I-nfm*matianSystana (2) Artificial Intelligence Systems
(3) Executive Support Systems (4) Decision Support Systems.

Options :
61547525441. 1

61547528442. 2
61547528442, 3
61547525444, 4

Question Number : 86 Question Id : 6154757294 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Corre{:t Marks 2 Wrong Marks : (

"._ﬁﬁﬁ?ﬁwgunoﬁ foret Ted % Tee TR R Tl v @ dfem v staask fo

e[S Lo BTt G IR o1 o o O ot i e 7 R T S ol 2 7

(1) e oEeT Somet 2) 0w ghgwm wonet

(8)  TEEHI AREdr Tl () ol TEEa g

Options :

615475258441, 1
61547528442, 2
61547528443, 3
61547520444, 4

Question Number : 87 Question Id : 6154757295 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
Theory of Comparative Advantage given by David Ricardo in 1817 is
(1) Two Commodity and One Factor theory
(2)  Two Commodity and Two Factor theory
(3) Two Country, Two Commodity and Two Factor theory
(4) Two Country, Two Commodity and One Factor theory

Options :
61547528445, 1

61547525446, 2
615475258447. 3
61547528448, 4

Question Number : 87 Question Id : 6154757295 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1817 ® =fIs Rewret g Hfamiiea go

(1) o 95 o%g A1 T Fsh g
3) 23w, 4 A awg i 3w fagia
() 75w, QA T N TF FE firgma

Options :
61547528445, 1

615475258446. 2
61547528447. 3
61547528448, 4

Question Number : 88 Question Id : 6154757296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SIP in Market Targeting refers to
(1)  Systematic Investment Planning (2) Short Input Processing
(3) -Se*gm_i:jnt Investing Portf{il‘i{} (4) S*e-gmem Invasion Plan

Options :
615475238449 1
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61547528450, 2
615475258451. 3
61547525452. 4

Question Number : 88 Question Id : 6154757296 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e # wm ot (SIP) 1 e e 27

® — pg—

615475254489. 1
615475258450. 2
61547528451, 3
61547525452. 4

Question Number : 89 Question Id : 6154757297 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Who propounded the ‘Force-Field theory’ of change process?
(1) Kurt Lewin

(2)  Peter Drucker

(3) Joseph A. Schumpeter

(4) David C. McClelland

Options :
615475254535. 1

61547525454. 2
615475258455. 3
61547525456. 4

Question Number : 89 Question Id : 6154757297 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

1 R

(4) Sfos . facfice

Options :
615475254535. 1

61547525454 2
61547528455. 3
61547525456. 4

Question Number : 90 Question Id : 6154757298 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following is NOT a source of opportunity identification?
(1) Employees and ex-employees

(2)  Dealers and Distributors

(3) Policy Documents
(4) Friends and relatives
Options :

61547528457. 1
61547528453. 2
61547528459, 3
61547525460. 4

Question Number : 90 Question Id : 6154757298 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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M
(2)

(3)

Options :
61547528457. 1

61547525453. 2
61547525459, 3
61547525460. 4

Question Number : 91 Question Id : 6154757299 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Pearl Ltd. Company purchased a van for Rs. 12,000 making a down payment of Rs. 5,000
cash and signing a Rs. 7,000 note payable in 60 days. As a result of this transaction :

(8)  Total assets will increase by Rs. 12,000

(b)  Total liabilities will increase by Rs. 7,000

(c) This transactions will not have immediate effect on owner’s equity in the business

(d)  From the point of view of short-term creditor, this transaction will make business

more liguid

Choose the correct option :

() (a)and {9
(2)  (b)and (d)
(3)  (a)and (b)

(49 () and (e

Options :
61547528461, 1
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61547528462, 2
61547528463. 3
61547525464. 4

Question Number : 91 Question Id : 6154757299 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
7o f. FE § 12,000 % 3 wF 39 G, s B 3 5,000 % F g T SEE R e 60
T # 7,000 %, % 57 Pram Tedl A2 WS | 38 S-ad T Ty waEy

(8) T wEEE § 12,000 %, F gis B

()  TH W-A i cAAEE § Tl W Sl W HE qrewiiers INE T S

(@) s o B o H e - ST s e s

w&l fampeq g

(1) (&) 3T (c)
(2)  (b) IR (D)
3)  (a) 3 m)

@9 (@) ()
Options :
61547528461. 1
61547528462, 2
61547528463. 3
61547528464. 4

Question Number : 92 Question Id : 6154757300 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The combined leverage

(a) 1s the summation of the degree of operating leverage and the financial leverage
(b) measures total risk of the firm

(c) is the difference between the degree of operating leverage and financial leverage

(d) indicates the effect that changes in sales will haveon earning per share

Choose the correct option
(1) (a) and (b)
(2)  (b)and (c)
(8)  (b) and (d)

(4)  (¢) and (d)

Options :
61547528465, 1

615475258466. 2
61547528467. 3
61547528468, 4

Question Number : 92 Question Id : 6154757300 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1)  (a) 311 (b)

(2)  (b) 3 (c)

3 (b))

4 (c) R (d)
Options :
61547528465. 1
615475258466. 2
61547528467, 3
61547525463. 4

Question Number : 93 Question Id : 6154757301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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As per RBI guidelines (2008), an MSME is considered to have reached the stage of incipient
sickness if the following events are triggered :
(a) When there are cost overruns because of delay in commencement of commercial
production by more than 6 months
(b) The enterprise incurs losses for 2 years or cash loss for one year

(©  The capacity utilisation is léss than 50 percent of the projected level in term of sales

(d)  There is an errosion in the net worth due to accumulated cash losses to the extent of

50 percent of net worth during the previous accounting year

eet?

Which bne of the following is corr

(1) (2) and (b) only

(2)  (2), (b) and (c) only
(3)  (b)and (¢) only

4 (@), [, and(d)

Options :

615475258469, 1
61547528470. 2
61547528471, 3
615475208472, 4

Question Number : 93 Question Id : 6154757301 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1) == () 3R ()
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Options :

61547528469, 1
61547528470, 2
61547528471, 3
61547528472, 4

Question Number : 94 Question Id : 6154757302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which of the following fully capture foreign exchange risk exposure of an manufacturing
enterprise?
(a)  Transaction exposire
(b) Economic exposure
(¢)  Translation exposure
(d) Currency exposure
Choose the correct option :
(1) (a) and (b) only (2) (b) and (c) only
(3)  (¢) and (d) only “) (a),(b) and (c) only

Options :
61547528473 1

61547528474. 2
61547528475. 3
61547525476. 4
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Question Number : 94 Question Id : 6154757302 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
(2) T HEE TS
(b)  nfin T
(d)  HET TSR

Hel Toehed T :

Q) FE (a) 3R () 2) FE (b) 3 (o)
(3) ¥ (e) 30 (d) (4) Fa (a), (b) R (o)
Options :

61547528472, 1
615475258474. 2
615475258475. 3
61547525476. 4

Question Number : 95 Question Id : 6154757303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to Mintzberg's model of strategic decision making; its modes are:
(a)  Entrepreneurial, adaptation and planning
(b)  Managerial, incrementalisation and judgmental
(c)  Entrepreneurial. planning and incrementalisation
(d)  Judgemental. managerial and leadership

‘Which of the following options is correct?

(1)  (a). (b) and (d) only (2) (a) and (c) only

(3)  (b) and (c}only (4)  (b). (c) and (d) only
Options :
615475258477. 1
61547528473. 2

615475284793. 3
615475254350. 4

Question Number : 95 Question Id : 6154757303 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(d) q:q‘mrrrr, wwﬁa aﬁT ﬁac_q'
(1) =39 (a), (b) 3T (d) (2) =ad (a) W (c)
(3  F () W (o) (4 F b), () I (@)

Options :
61547528477. 1

61547528473. 2
615475258479. 3
61547528480, 4

Question Number : 96 Question Id : 6154757304 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘Collusion’ is one of the co operative strategies in business combination that

(3) may be -eX-pli(’i;it

(b)  may be tacit

(c) may reduce t-e'_c-hnolo.'gibal_ris;k

(d)  may beillegal in many countries

‘Which of the following option is correct?
(1) only (a) and (b) (2) (), (c) and (d)
3) (@), (b)and () (4) (), (®)and ()

Options :
61547525431. 1

615475208482. 2
61547528482, 3
615475254384. 4

Question Number : 96 Question Id : 6154757304 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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Options :

615475258481, 1
61547528482, 2
61547528433, 3
615475208434, 4

Question Number : 97 Question Id : 6154757305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
To keep the brand live, contemporary and relevant, marketer uses a variety of measures such as
(a) Brand extension
(b)  Brand rejuvenation
(¢) ‘Brand relaunch
(d) Brand proliferation

Which of the following is correct?

(1)  (2) and (b) only @) (a)and (g) only
(8)  (a), (b) and (c) only 4) (a), (b), (c) and (d)
Options :

61547525485. 1
615475258486. 2
61547528487. 3
61547525483. 4

Question Number : 97 Question Id : 6154757305 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

615475258485, 1
61547528436. 2
615475284387, 3
61547528488, 4

Question Number : 98 Question Id : 6154757306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Direct marketing 1z carried out In variety of ways. Some of the main forms of direct

marketing are

(a)  Mail order marketing

(b)  Telemarketing

(c) ‘Online marketing

(d)  Direct selling

Which of the following option is correct?
(1)  (a).(b) and (c) only

(2)  (a).(b), (¢) and (d)

(3) (a): (b) and (d) only

(4) (a) and (c) only.

Options :
6154752548%5. 1

61547525490. 2
61547528491, 2
61547525492. 4
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Question Number : 98 Question Id : 6154757306 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T fomom fafim =0t § forar s 21 v fooom (DM) & 39 958 &9 #

(d) T fosht

(1) = (a), (b) 3R ()
2  (a), ), () 3 ()
(3) wEE (a), (b) 3 (d)
(4) e (a) ¥ ()

Options :

615475258489, 1
61547528490. 2
61547528491, 3
615475208492, 4

Question Number : 99 Question Id : 6154757307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The strategic issues to which a retailing firm has to respond are :

(2) Location decisions

(b) Brand building decisions

(¢9  Merchandise mix decisions

(c ) T-a-fgfé.t market selection

Which of the fi’:’lﬂﬂW’ng option is correct?

(1) (@), (b) and (c) only (2) (a) and (¢) only

B (@), ®), (©and @) 4 (2, (¢) and (d) only

Options :
61547525495. 1

61547525494 2
61547523485. 3
61547525496. 4

Question Number : 99 Question Id : 6154757307 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

w53, fom T fret e R v F em A, §

(a) o wet ot

(b)  ws Fw A o

(@) i SR ==

(1) o (a), (b) 3 (o) (2) ¥ (a) 3 (o)

3)  (a), (b) AW (d) (4) = (a), (¢) AR (d)

Options :
61547525495. 1

61547525494. 2
615475258485. 3
61547525496, 4

Question Number : 100 Question Id : 6154757308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Grounds for market segmentation based behaviour are :

(a) Benefit sought

(b)  Life style

(c) Purchase occasion
(d) Usage rate

Which of the following option is correct?

(1) (a)and (b) only (2) (@), (¢) and (d) only
(3)  (a), (b) and (c) only 4) (a), (b), (c) and (d)

Options :
61547528497. 1

615475284893. 2
61547525499. 3
61547525500. 4

Question Number : 100 Question Id : 6154757308 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SHEER AT SR TSR g T H ST ST ot SATHR 8

(D) % (2) S (b) @) F (@), (© I (@)
(83)  FEHA (a), (b) AR (c) 4 (), ®), (¢ 3 (d)

Options :
61547525497. 1

615475284893. 2
61547528498, 2
61547525500. 4

Question Number : 101 Question Id ;: 6154757309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
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Which of the following describes a combination of manufacturing systems designed to ensure

that, theoretically, 100 percent good units flow to subsequent operations?
(a)  Autonomation

(b)  Automation

(c) Bakayoke

(d)  Kaizen

Select correct option :

(1)  (a) and (b) only

(2)  (b)and () only

(3) (a) and (c) only

(4 (o) and (d) only

Options :
61547528501. 1

61547528502. 2
61547525503. 3
61547528504, 4

Question Number : 101 Question Id : 6154757309 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) ¥ (a) SR B)
(@  FFd b) 3 (©)
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Options :

615475258501, 1
61547528502, 2
61547528503, 3
61547528504, 4

Question Number : 102 Question Id : 6154757310 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the correct combination of properties of point estimates from the optiois given
below :
(a)  Efficiency
()  Consistency
(©) Adequacy
(d)  Unbiasedness
Choose correct option :
L (@), ®)and (© @ (), (&) and (&
Options :
61547528505. 1
61547528506, 2

61547528507, 3
61547528508. 4

Question Number : 102 Question Id : 6154757310 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0
(a)  g&am
(b) T
(1) (), (b) ¥R (©) @ ), (@ 3@
(3)  (a), () AT (d) @) (a), () 3R ()

Options :
61547528505, 1

615475258506. 2
61547528507. 3
61547525503. 4

Question Number : 103 Question Id : 6154757311 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
At a given significance level, sample results in the rejection region are called
(8)  Statistically significant
(b)  Statistically insignificant
(e) Statistically eritical
(d) Confidence interval

Select correct option :
(1) (a) and (c) only (2) (b) and (c) only
(3)  (a)and (b) only (4) (a) and (d) only
Options :
61547528509. 1
61547528510. 2

61547528511. 3
61547528512 4

Question Number : 103 Question Id : 6154757311 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) (a) 3 () (2 = (b) W ()
(3) e (a) ¥ (b) @) = (a) 3 (@)

Options :
61547528509, 1

615475258510. 2
61547525511. 3
61547528512 4

Question Number : 104 Question Id : 6154757312 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference between the point estimate and the true value of population parameter being
estimated is known as

(a) Sampling error
(b) Estimation error
(c) Probable error
(d)  Standard error

Choose the correct gption from the optiens given below::

(1)  (a) and (c) only (2) (c)and (d) only

(83) (@) and (b) only 4 (a), (b) and (c) only.
Options : ) 4 o B C S h )
61547528513, 1

61547528514, 2

61547528515, 3

61547525516. 4

Question Number : 104 Question Id : 6154757312 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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[

Options :
61547528513, 1

61547525514, 2
61547528515. 3
61547528516, 4

Question Number : 105 Question Id : 6154757313 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the right combination of primary data collection methods from the following :
(a) Observation

(b)  Experimentation

(e) Corporate database

(d)  SBurvey method

Choose the correct option :

(1) (a) and (d) only 2) (c)and (d) only
(3) (&), (b)and (d) 4) (a),(b) and (¢)
Options :

61547528517. 1

61547528518, 2

615475258519. 3
61547525520. 4

Question Number : 105 Question Id : 6154757313 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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() e
(@ e agh
(D) % (2) () (2) = (o) ¥ (d)

Options :
61547528517. 1

615475285183. 2
6154752585198. 3
615475258520. 4

Question Number : 106 Question Id : 6154757314 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

(Gains to corporate restructuring originates and derived from

(a)  Resource re-allocation
(b)  Matket power

(¢0  Macro conditioning
(dy  Operating synergy

Which option is correct?
(1)  (a) and (b) only (2) (b) and (d) only
(3) (2, () and (d ) (a), (b)and (o)

Options :
61547528521. 1

61547528522. 2
61547528523. 3
61547525524, 4

Question Number : 106 Question Id : 6154757314 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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() e TR

(1)  a« (2) 9 (b) (2) m (b) i (d)
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Options :
61547528521. 1

61547528522. 2
61547528523. 3
61547528524, 4

Question Number : 107 Question Id : 6154757315 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The reasons behind the growth of financial markets globally are

(a) Currency fluctuations
(b)  Deregulation

©) International Banks

(d)  Information Technology

Select correct option
(1)  Only (a) and (b) (2) Only (c) and (d)
(3) (), (b) and (¢) 4) (), (c) and (d)

Options :
61547528525. 1

61547528526. 2
61547528527. 3
61547525523. 4

Question Number : 107 Question Id : 6154757315 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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F & wi-=7 e 98 87
(1) =99 (a) 3 (b) (2) A () ¥R (d)
3 (@), ) AT (© 4) (), (c) 3R (d)

Options :
61547528525, 1

61547528526. 2
61547528527. 3
61547525523 4

Question Number : 108 Question Id : 6154757316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Entrepreneurs are motivated to start business enterprise because of various factors:

(a)  Ambitious factors
(b)  Compelling factors
(© Facilitating factors
(d) Family factors

Which of the following options is correct?

(1)  (a), (b) and (c) only (2) (a) and (c) only

(8)  (a) and (d) only (4) (@), (b), (c) and (d)

Options :
61547528529, 1

615475258530. 2
615475258531. 3
61547525532. 4

Question Number : 108 Question Id : 6154757316 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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B T

AT T q Fi-=7 ey TE 27
(1) =9 (a), (b) A (c) (2) Fa (a) 3 (o)
(3) %A (a) 3K (d) @) (a), (), (¢) 3 (d)

Options :
6154752852%5. 1

61547528520, 2
615475258531. 3
61547525532. 4

Question Number : 109 Question Id ;: 6154757317 Question Type : MC(Q Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

Whistle blowing is normally unjustified in case of the following :
(a)  Ulterior motive, Breach of trust ”
(b) To protect public interest

(c) Insufficient evidence

(d)  To inspire other employees

Choose the correct option :
(1) (a) and (b) (2) (a)and (¢
(3)  (b)and (¢) (4) (b) and (d)

Options :

61547528522, 1
61547528534, 2
61547528535, 3
615475258536, 4

Question Number : 109 Question Id : 6154757317 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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ATt 3 (Whistle Blowing) Fefafad & & forees =aiv o Sfos w9 7 5
()  oTas v, foweame e
(b) ~ WRiET = T&T

(d) o THHEIE B U

wEt forereT T4
1) () 3 (b) 2) (2) 3% (c)
(3)  (b) & (o) @) () 3 (d)

Options :
61547528535. 1

615475258534. 2
61547528535, 3
61547525536. 4

Question Number : 110 Question Id ;: 6154757318 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

On which of the following principles is Andrew Carnegie’s view on Corporate Social
Responsibility, as reflected in his book, ‘The Gospel of Wealth” based?

(a)  Peter Principle

(b)  Scaler Principle

(¢0  Charity Principle

(d)  Steward Principle

Choose the correct option from the following :

(1)  (a) and (b) enly (2) (b) and (c) only
(3)  (c) and (d) only (4) (a) and (d) only

Options :
61547528537, 1

61547528533. 2
6154752585398. 3
61547528540, 4

Question Number : 110 Question Id : 6154757318 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(1) FE () 3R ) @) S () 9 (©)
(3)  FAF (o) 3 (d) ) FFw (a) 3R (@)

Options :
61547528537. 1

61547528533. 2
6154752585398. 3
61547525540. 4

Question Number : 111 Question Id : 6154757319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT the prominent objective of human resource planning?

(1) To prevent overstaffing and understaffing

(2)  Toensure employee availability

(8)  To provide direction to all HR activities

(4)  Toevaluate the performance of the employees

Options :
61547528541. 1

61547528542, 2
615475258543. 3
61547525544 4

Question Number : 111 Question Id : 6154757319 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(2)  wHET i TS GHTEd BT

(3) =l vw s afafafirt = feam wem =
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Options :

615475258541, 1
61547528542, 2
61547528543, 3
61547525544, 4

Question Number : 112 Question Id : 6154757320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Assertion (A) :  Foreign trade policy is an important instrument that incentivise the
exporters of the country.

Reasons (R) : It is important for exporters of our country to have knowledge of foreign
trade policy

Which of the following option is correct?

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(@)  Both (A) and (R) are correct but (R) is not the correet explanation of (A)

(3)  (A)is correct but (R) is not vorreet

(4  Both (A)and (R) are incorrect

Options :
61547528545, 1

615475258546, 2
61547528547. 3
61547525543. 4

Question Number : 112 Question Id : 6154757320 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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@ (&) i ®) 3w E T R), (A) H wd s
3) (A = R ueg (R) wd T B
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Options :
61547528545. 1

615475258546. 2
61547528547. 3
61547525543 4

Question Number : 113 Question Id : 6154757321 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Methods of off-the-job training are

(a) lectures, simulations and laboratory trammg
(b) role playmg._,. vestibule training and video presentation
(¢)  job rotation and coaching

(d)  job instruction training

Choose the correct option :

(1) (a)and (¢) (2) (a)and (b)
(3)  (b)and (d) (49) (b) and (¢)

61547525549. 1
615475258550. 2
615475258551. 3
61547525552, 4

Question Number : 113 Question Id : 6154757321 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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qAqT !

(@) _
(1) (a) 37 () ©@ (@) 38 (b)
(3)  (b) 3R (d) 4) (b) 3T ()

Options :
61547528549, 1

615475258550. 2
615475258551. 3
61547528552, 4

Question Number : 114 Question Id : 6154757322 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Psychological barriers in communication take place due the following reasons :
(a)  Premature evaluation, lack of attention
(b)  Organizational facilities, status relationships
(¢)  Poor retention, lack of relianice

(d)  Hierarchy, organization policies

Choose the correct option :

(1)  (a) and (b) (2) (a) and (c)
8) () and () (4) (b) and (d)

Options :
615475285535, 1

61547525554, 2
61547528555. 3
61547525556. 4

Question Number : 114 Question Id : 6154757322 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i <R & Harg § wHa ST S #

(a) I Hod i-cahﬂ', SR T T
(b)  TFTSATCHeh Faume, Teew "@ae (Relationship)
(¢)  EST amefEar (Poor retention), Tavar 6t =

(@) e (Hierarchy), ¥ $t Afeet

g faeren 1 T
1) ()3 (D) (2) ()W (o)
(3)  (b) F(c) (4)  (b) 3 (d)

Options :
615475285535, 1

615475258554, 2
61547528555. 3
61547525556. 4

Question Number : 115 Question Id : 6154757323 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Novation, a feature of future exchanges stipulates
(1) Future contracts are traded in an exchange
(2) Exchange becomes a counter-party for all trades
(3) Futures contracts delivery dates are standardised

(4) Credit risk using intricate system of margins

Options :
61547528557, 1

615475285538. 2
6154752585598. 3
61547525560. 4
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Question Number : 115 Question Id : 6154757323 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T (Novation) et fafa #t v =T 2, Ted sz 2

(1) et v e e % e & v v o ¥

(2) =l =R % o TeEEs wia-vet 5 S 2|

(3) IR ICH ?ﬁﬁﬂi"ﬁ (delivery) Tafe=t (dates) ® Hcﬁi@q sl %l
(4) WIS % S O % TEN 9 shiee SREA|

Options :

61547528557, 1
61547528558, 2
61547528559, 3
61547528560. 4

Question Number : 116 Question Id : 6154757324 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the following approaches of moral reasoning with their propounders :

Moral Reasoning Proponder(s)
(a) Consequentialism Approach (i) Thomas Hobbes, Ayow Rand
(b) Deontological Approach (i) Aristotle
(¢) Natural law theory (i) Ronald F. White
(d) Theological Approach (iv) W.D. Ross, John Rawls

Choose the correet option from the following :

1 @@, B)-Gv); ©-Gi), [@)-d)
@  (@-0D), O)-Gi), ©-0), @-@v)
(3) (2)-(), (b)-@v), (©)-(d), (d)-(ii)
@ @-0), ®)-GD), ©-@v), (@)-i)

Options :
61547528561, 1

61547528562. 2
615475258563. 3
61547525564 4
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Question Number : 116 Question Id : 6154757324 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ifam ifim = (Moral Reasoning) #%

| (Approaches) @t 3% Tfaureh! (Propounders)

: : e ey
= T gHfo R

(@) fe ST (Approach)

(b) iferm 2AT9TH

(@) e st (iv) s T, o e

(© e e w5t Rt (1i1)

(1 (@)-@), B)-Gv), (©-(i), [@-{)
@  @-G0), B)-3il); ©-0); @-v)
3 (@-0), G)-v), ©-G), (d)-{i)
@ @-@), B)-GD; ©-v), ([@)-(ii)

Options :
61547528561, 1

61547528562. 2
61547528563. 3
61547525564, 4

Question Number : 117 Question Id : 6154757325 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the terms with the statement given below :

(a) Human behaviour results from a (i) Interactionalism
continuous and  multidirectional
interaction between the person and
the situation

(b) People are central to the organization (ii) Productivity Approach
and they must be developed to their
potential

(c) Manager’s efficiency depends on (iil) Contingency Approach
optimumi utilization of resources

(d) The belief that there is no one best (iv) HR Approach
option available for an organization

Select the correct option :

M @-Q), B)-v), (©)-(), (@)-[il)
@  (@-@), (b)-GD), (o)-(ii), (d)-(v)
3 (2@, b)-(id), (©)-(iD), (d)-(v)
@ (@-GD), B)-0), ©)-(ii), (d)-Gv)

Options :
61547528565. 1

615475258566. 2
61547528567, 3
615475258563. 4

Question Number : 117 Question Id ;: 6154757325 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :
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(1)
(2)
(3)
(4)

Options :

(2)-(3). (b)-(iv), (e)-(D). (d)-(iii)
(2)-(1), (b)-(id). (c)-(iid). (d)-(iv)
(2)-(1). (b)-(ii). (¢)-(i), (d)-(iv)
(@)-G). (b)-(0). (&)-(iid), (d)-(iv)

61547528565, 1
61547528566. 2
61547528567. 3
615475258563. 4

% sffe Fiar

)

(i1)

(i)

(iv)

{Interactionalism)
(Productivity Approach)

(Contingency Approach)
(HR Approach)
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Question Number : 118 Question Id : 6154757326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the following according to their definition :

(a) Career Planning

(b) Career development

(¢) Career management

(d) Hﬁum;a.n resource -p’lanning

Chooge the correct option
1) (a)-ai. b)-Av). (@)-(id), (d)-(1)
(2) (2)-(1). (b)-(2v). (e)-(11). (d)-(1)
(3) (a)-(11). (b)-(111), (c}-(1v). (d)-(1)
(4)  (2)-GiD). d)-Q). (©)-({i). (d)-(iv)

Options :

61547528569, 1

61547528570, 2

61547528571, 3

81547528572. 4

(1)

()

(iti)

(1v)

prepp
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A process whereby an i._n-divi;iual sets
career goale and identifies means to
achieve them

A process ‘of enabling employeés to
better understand and develop their
skill and interest and use them for the

interest of organization and self

The process of analysis and identifying
the need and ‘availability of human
resources so that organization can
meet its objectives

Refers to a formal approach used by
the firm to ensure that people with

proper gqualification and experience

are available when needed

Question Number : 118 Question Id : 6154757326 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(d) AR FETE
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(1) (a) (i), (b)-(iv), {e)-(ii), (d)-(0)
@  @-@, b)-av), (e)-11), (d)-{iD)

3)  (a)-(i), B)-Gil), (0)-Gv), ()-O)

@ (@), B)-), ©-D), (d)-(v)

Options :
61547528569, 1

61547528570. 2
61547528571. 3
61547528572. 4

=h SFHR TRARE il WA

(a) HieR AREr (Career Planning)

@)
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Question Number : 119 Question Id : 6154757327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the following constructs of asset pricing with its propagators.

(o)

(c)
(d)

Choose the correct match from options given below :

(1)
(2)
(3)
4)

Options :

Asset Pricing Constructs
Mean-Variance portfolio eriterion (1)

Size and Bock to market wvalue (1)

portfolios
Capital Asset Pricing model (1i1)
Derivative (ﬁptiﬂr};} pricing {1v)

(2)-(iid). (b)-@). (&)-(v). (d)-(id)
(a)-(1v). (b)-(111). (¢)-(a1). (d)-()
(&)-(1d). (B)-(iv). (c)-). (d)-(iiD)
()-(v). (b)-(). (c)-(iii). (d)-(ii)

615475258573. 1
61547528574, 2
61547528575. 3
61547528576. 4

Proposer(s)

Black and Scholes

Sharpa. Lintner and Mossin

Fama & French

Markowitz. Harry

prepp
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Question Number : 119 Question Id : 6154757327 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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i HUlA =i

et Hem et % fa=mE (Construct of assets pricing) fit 38 wfaurg

(b) HES TT TF T Whe So TEwiTemt i)y =, fRew @ ARE

(0 fiee swe msf wew (iif) T g

r\-'

(d)

1) (@)-Gil), (b)-0), (©-Av), [@)-Gi)
2  (@-@v), (b)-Giid), (e)-@), ([@)-@)
3  (@-G), B)-v), (©-@), (@)-(ii)
@ @-v); (b)-0), (9-id), (d)-(i)

Options :

61547528573, 1
61547528574, 2
61547528575, 3
61547528576, 4

Question Number : 120 Question Id ;: 6154757328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the following constructs with underlying theories on dividend decisions :

List T List IT

Dividend Constructs Theories on Dividend

(a) Bird-in-the hand argument i) M-M theory

(b) Irrelevance of dividends (i) Walter Model

(¢) Interdependence of investment and (iil) Lintner niodel
dividend decisions

(d) Tax considerations in dividend (iv) Gordon model
decisions

Choose the correct options from those given below :

1) @-GD), B)-0), ©-Gii), (@)-Gv)
2)  (a)-1v), (b)-({11), (¢)-(), (d)-(11)
(8)  (@)-(id), (b)-(iD), (©-(), (d)-(iv)
4  (@)-1v), (b)-(), (¢)-(1), (d)-(111)

Options :

61547528577, 1

61547528578, 2

615475285793. 3
61547525580. 4

Question Number : 120 Question Id : 6154757328 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Pt et = e Rk 3 By gt 3w R

(a)
(b) shfeme o o
(¢) Triw wa e fiotat <t st fe
(@) Ty FofE # e (iv) TiET wise

(1) (a)-(11), (b)-(1), (C)(lll), (d)-av)
(2) (a)-(1v), (b)-(1), (¢)-(1), (d)-(11)
(3) (a)-(iil), (b)-(i1), (c)-(), (d)-(@v)
(4) (@)-@v), (0)-@), (e)-(11), (d)-(iii)

Options :
61547528577. 1

61547528573 2
615475285793. 3
61547525580. 4

Question Number : 121 Question Id : 6154757329 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Matech List I with List IT

(a)
(b)
(©)
(d)

List I
(Strategy)
Merger
Acquisition
Takeover

Hostile bid

(11)

(iii)
@)

Choose the correct option from the given below :

(1)
(2)
®3)
4)

Options :

(@)-(), (b)-(41), (0)-(iiL), (d)-Av)
()-{i), (b)~(ii), (¢)-(iv), (d)-(i)
(@)-(), (1)), (©)=(), (d)-(iii)
(2)-(iii), (0)-@), (0)-(iD), (d)-@v)

61547525581. 1
61547528582. 2
61547528583. 3
61547528584, 4

prepp
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List II

(Example)
HUL-TOMCO
Kelvinator-Whirlpool

Diamlerchrysler-AG

L & T Technology-Mind Tree

Question Number : 121 Question Id : 6154757329 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a)
(®)
©
(d)

3= (Acquisition)
sftprgm (Takeover)

ST Sre (Hostile bid)

(D)
(2)
(3)
(4)

Options :

(2)-(1), (b)-(i), (c)-(iil), (d)-(iv)
(a)-(iii), (b)-(ii), (¢)-(1v), (d)-Q)

(@)-(i1), (b)-(v), (¢)-(), (d)-(ii1)

(@-(), (B)-(0), ©-(i), (@-Gv)

61547525581. 1
61547528582. 2
615475258583. 3
61547528584, 4

prepp
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Question Number : 122 Question Id : 6154757330 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
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Match List I'with List IT :

List 1 List I1
(Branding Strategy) (Meaning)

(a) Line Extension (i) New product category and existing
brand name

() Brand Extension (i) Existing product category and existing
brand name

(¢ Multi Brands (i) Existing product category and new
brand names

(@ Co-branding (iv) Putting two established brand names
of different companies on the same
product

Choose the correct option from the given below :

1) (@)@, (b)-(i), (©)-@id), (d)-1v)
@ @-GD), B)-0), @-(i), @-1)
@ @ )0, ©-6D); [@)-(v)

@  (a)-0), Bb)-(id), ©-3i), (d)-(v)

Options :
61547528585, 1

61547528586. £
61547528587. 3
615475258583. 4

Question Number : 122 Question Id : 6154757330 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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-1 ¥ Y -1 Toem w
(siffem +#ifa) (=)
(a) e TTEIE @ H’émﬁwﬁaﬁ'{ﬁwmmm
(b) FE TAEEE (i) gt Ie Ao o e wis

(¢) ¥ TS (1ii) H_n@g:’[ SeITE ST ST T SIS T A
(d) w-FiEn (iv) TN T W T STERT-ITERT TR Hamar

% SIS T T8 SIaH]

i L rx . AR

M @), G-, @), (@)-)
@ @G0, B)-0), @), @)
(3 (@), B)-), ©-a), @-1v)
@ (@), G)-(ii), (©)-G), (D)-Gv)

Options :
61547528585, 1

615475258586. £
61547528587. 3
61547525583 4

Question Number : 123 Question Id : 6154757331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Mateh the following product categories and quality certification mark(s).

(a)
(b)
(©
(d)

Product Categories

Gold and silver jewellery

Agricultural products

Industrial products

Processed food products

L)
(it)
@)
(1v)

Quality Certification Marks

ISI Mark

FPO Mark

BIS Hallmark
AGMARK

Choose the correct match from the options given below :

(1)
@)
(3)
(4)

Options :

@)-(), (b)-(i), (¢)-(iv), (d)-(iii)
(a)+(1), (b)-(iv), (¢)-(iid), (d)-(ii)
(a)-(iii), (b)-(ii), ()-(3), (d)-(iv)
(a)-(iii), (0)-(iv), (¢)-(), (@)-(iD)

615475258589. 1
615475258590. 2
61547525591. 3
61547525592. 4

Question Number : 123 Question Id : 6154757331 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(d)

(1)
(2)
3
(4)

Options :

(2)-(i), (B)-(iD), (©)-(1v), (d)-(iii)
(a)-(1), (b)-Gv), (e)-(iid), (d)-(ii)
(a)-(id), (b)-(i1), (0)-(1), (d)-Gv)
(2)-(1id), (b)-(iv), (©)-@), (d)-(i)

61547528589, 1
6154752585890. 2
615475255891. 3
615475258592. 4
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Match List I with List 11

List I List II
(Theories of International Trade) (Propounder (s))
(a) Theory of Absolute Advantage (i) Raymond Vernon
(b) Factor Proportion Theory (1) Steffan Linder
(¢)  Country Similarity Theory (iif) Heckscher Ohlin
(d) Product Life Cycle Theory (iv) Adam Smith

Choose the correct option from the given below:

O @D, O)-0), @D, @-Gv)
@ @), G-, -G, (@)-6)
B (@), B)-Gii), @G, @-G)
(@) (@), (b)), (@)-(iv), (@)-()

Options :
61547528593, 1

61547525594, 2
615475258595. 3
615475258596. 4

Question Number : 124 Question Id : 6154757332 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a)
(b)
(@ ST T T SR (v) v

ot & ) e o -

D @0, G-, @i, @-Gv)
@ @-v), (b)), (0)-(iD), (@-()
3 (@), b)), (i), @-()
@) @), G-, @GV, @0

Options :
61547528593, 1

61547525594, 2
615475285895. 3
61547525596, 4

Question Number : 125 Question Id : 6154757333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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An MNC wants to invest in India. Of the following entry modes, select the right order in
terms of increasing risk?

(@) Co-operative joint venture
()  Branch office

(¢)  Portfolio investment

(d)  Wholy owned subsidiary
()  Equity joint venture

Select correct aption :
(I) (@), @), ), (@ and (b) (2) (b), (@), (e),.(c) and (d)
(3)  (a), (b), (e), (d) and (c) (4) (o), (@), (e), (b) and (d)

Options :
61547528597, 1

615475285938. 2
615475258599. 3
61547525600. 4

Question Number : 125 Question Id : 6154757333 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

C TR T

(@) TER AL

Ul TTHCD ATl He b Y

frt e 99 (Joint Venture)

CREONCHCRCE

(1) (ﬁ) Qﬂ); (5) (B)

@ @), ), @5 @

()

Options :
615475283597, 1

61547528593. 2
615475258599. 3
61547525600. 4

Question Number : 126 Question Id : 6154757334 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Budgeting is closely related to planning m an organisation. Itinvelves four-stages and their
correst sequence is

()  Setting the objectives, specifying the goals, laying down the strategies, preparation of
budget
{2)  Betting fhe ebjectives; laying down the strategies, specifying the goals, preparation of
(3)  Laying down-the strategies, setting:th
~ budget |
(4)  BSpeeifying the goals, setting the objectives, laying dowr
budget

© objectives, specifying the goals, preparation of

“the strategies, preparation of

Options :
61547525601. 1

61547528602. 2
61547528603, 3
61547525604, 4

Question Number : 126 Question Id ;: 6154757334 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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(@  em fafaice =, e = fat, St G =, g9 g9 w0

Options :
61547525601. 1

61547525602. 2
61547525603. 3
61547525604, 4
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A global manager has cultural predisposition as follows :

(a)  Regiocentricism

(b) Geocentricism

(¢)  Polycentricism

(d) Ethnocentricism

Wthh one Gf the fGHOWng Sequencels COI‘I’ECTZ‘?

(1) (@), (), (¢) and (d) (2) (¢), (d), (2) and (b)
3) (), (a), () and (d) 4) (@), (c), (2) and (b)

Options :
61547523605, 1

61547525606. 2
61547525607. 3
61547525603. 4

Question Number : 127 Question Id : 6154757335 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

EIRE LI EIR i
(2)  &nf gEr (Regiocentricism)
(b) H\—%ﬁﬁlﬁ (Geocentricism)

(c) Erd FHreare (Polycentr lcism)

(d) wofa Fgarg (Ethnocentrieism)

HEIREd 9§ HA-H1 FH 9851 2

1) (), b), () R (d) 2 (o), (@), (a) 3 (b)
@) (), (@), () S (d) @ (@), (@), () 3 ®)

Options :

61547528605, 1
61547528606, 2
61547528607, 3
615475205603, 4

Question Number : 128 Question Id : 6154757336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The steps followed in developing a global pay system in right sequence ave:

(1) Set ‘strategy, identify crucial executive behaviour, global philosophy framework,
identify gaps, systematize pay system, adopt pay policies

(2) Set strategy, global philosophy framework, identify gaps, identify crueial executive
behaviour; adopt pay pelicies, systematize pay system

3 Identify crucial exeeutive behaviour, set strategy, global philosophy framework,
identify gaps, systematize pay system, adopt pay policies

(4) Adopt pay policies, identify’ crucial executive behaviour, set strategy, global
philesophy framework, identify gaps, systematize pay system.

Options :

615475258609, 1
61547528610. 2
61547528611, 3
615475208612, 4

Question Number : 128 Question Id : 6154757336 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T I ToTe R T AT e o e w2
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{3)

Options :
6154752860%5. 1

61547525610. 2
61547525611. 3
61547525612. 4

Question Number : 129 Question Id : 6154757337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The right sequence in respect of stages of group development is

(1) Forming, storming, norming, performing, adjourning

(2)  Storming, forming, norming, adjourning, performing

(3) Norming, performing, storming, forming, adjourning

(4) Storming, forming, norming, performing, adjourning
Options :

61547525613. 1
61547525614, 2
61547525615. 3
61547525616. 4

Question Number : 129 Question Id : 6154757337 Question Type : MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question

Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(1)
(2)
(3)
(4)

Options :

615475258613, 1
61547528614, 2
61547528615, 3
61547520616, 4

A, AG-T

G- Taag (FiEm), T, HEe, owes, veee

Question Number : 130 Question Id : 6154757338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks : 2 Wrong Marks : 0
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There are 7 elements of personal selling which are followed in certain sequence at the time of
making sales to customers by salesperson. The correct sequence is

(1) Prospecting. approach. pre-approach. presentation. overcoming objections. follow-up:
'clnéin'g_

{2) Pri&appraac:h, approach. _prﬂsp_e_cting,_ _preaentatiﬁns, we:_momi_r;g--ahjectiqn_s; '.f&_llnmv-;up;
closing

(3)  Prospecting. pre-approach. approach. presentation. overcoming objections, closing;
fallow-up

(4) Approach, prospecting. pre-approach. overcoming objections, presentation. closing,
follow-up

Options :
61547528617. 1

61547528613. 2
615475258613. 3
61547525620. 4

Question Number : 130 Question Id : 6154757338 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Torell TosmaT G Shal Sl MW SEd FFF Ha79 %A 7 SAEIq 5! 6 7 G6d T S
B

(2)  h-oTir, ST, W T SR, SRR, SR QI ST

(8)  WWTET TR ST, oS, ST, TR, SIEt g FA, WA, e
(4) ST, TSR TA SO, S-S, ST 5L AT, STRdieetl, AT, ST

Options :
61547528617. 1

61547528618, 2
615475256193. 3
61547525620. 4

Question Number : 131 Question Id ;: 6154757339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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These are five distinct International Expansion Entry modes which are followed by
businesses for entering international markets. Their correct sequence is

(1)  Licensing, Franchising. Exporting. Partnering, Strategic Alliance
(2) Strategic Alliance. Exporting. Licensing. Partnering, Franchising
(3) Exporting. Strategic Allance. Partnerng, Licensing: Franchising
(4) Exporting, Licensing, Franchising. Partnering, Strategic Alliance

Options :

61547528621. 1

61547528622, 2

61547528623. 3
61547525624, 4

Question Number : 131 Question Id ;: 6154757339 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(3)
4

Options :

615475258621, 1
61547528622, 2
61547528623, 3
61547520624, 4

Question Number : 132 Question Id : 6154757340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following sequence are the steps of ‘QUEST ’ technique of external economic
analysis?
(1) Conceptualization Phase — Evaluation Phase — Feedback Phase — Analysis
Phase

(@)  Preparation Phase — Divergent Planwming Phase — Option identification Phase —s
Seenario Development Phase

(3) Development Phase — Scanning Phase — Evaluation Phase — Strategic
Implementation Phase

(4)  Scanning Phase — Segmentation Phase —» Generative Phase —> Review Phase.
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Options :
61547528625, 1

61547528626. 2
61547528627. 3
61547525623. 4

Question Number : 132 Question Id : 6154757340 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547528625, 1
61547528626, 2
61547528627, 3
615475208623, 4

Question Number : 133 Question Id : 6154757341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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International negotiation is a seven step process comprising of the following :

(a)  Information exchange and offer
(b)  Concession

(c) Preparation

(d)  Building a relationship

(e)  Strategy

()  Persuasion

(g)  Agreement
Which of the following sequence is in the right order?

1) (e, @, @, @, (&) () and (d)
@) (©,(e), @), @, @ (b) and (g)
B) (@, (), (e), (O, (d) (2) and (b)
@) (@. @), (), (e). D (g) and (b)

Options :

615475258629. 1
61547528630. 2
61547528631, 3
615475208632, 4

Question Number : 133 Question Id : 6154757341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(d)
(e)
(£)
(g)

(1)
2)
(3)
4)

Options :

(e), (), (a), (), (g) (b) ¥ (d)
(@), (8), (d), (), (O (b) ¥ (g)
(@), (), (e), (O, (d) (a) 3 (b)
(d), (@), (), (&), () () 3T (b)

61547525629. 1
615475258630. 2
615475258631. 3
61547525632. 4

Question Number : 134 Question Id : 6154757342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Marketing feasibility of any idea includes the following aspects :
(2) Current and future demand estimates

(b)  Market segmentation and identification of target markets
()  Competition analysis

(d)  Market testing

Which of the following option are correct?

(1) (a), (b) and (c) only
(2)  (b), (¢) and (d) only
(3)  (a) and (b) only

(4)  (a), (b), (¢) and (d)

Options :
61547528633, 1

61547525634 2
61547525635. 3
61547525636. 4

Question Number : 134 Question Id : 6154757342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547528633 1

61547525634 2
61547528635. 3
61547525636. 4

Question Number : 135 Question Id : 6154757343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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For marketing the products of MSME, marketing strategy has to be formulated which
consists of 4Ps

(2) Product

(b) Promotion

(c) Place

(d)  Price

Which one of the following sequenes is ¢orrect?

@ (@, G @andd) (@) {a), 1), (g and (d)
3) (@), d); (¢) and (b) 4 (), (¢, (d)and (b)
Options :
61547528637, 1
61547528638, 2
61547528639, 3
61547525640, 4

Question Number : 135 Question Id : 6154757343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

61547528637, 1
61547528638, 2
61547528639, 3
61547525640, 4

Question Number : 136 Question Id : 6154757344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statenients labelled as Assertion (A) and Reason (R).

Assertion (A):  Every product or service should be Brand_ed_."Qf;.herw:ise‘.__.the.y WJ.II be treated
as commodity.

Reasons (R) : If the product or service is branded then it always commands a higher
price.

Read the statements and choose the correct answer from the options given below

(1)  Both (A) and (R) ave correct and (R) is the right explanation of (A)

(2) Both (A) and (R) are correct and (R) is not the right explanation of (4)

(3) (A) is correct but (R) is incorrect

(4)  Both (A) and (R) are correct

Options :
615475258641. 1

61547528642, 2
61547525643. 3
61547525644, 4

Question Number : 136 Question Id ;: 6154757344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
615475258641. 1

61547528642, 2
61547525643. 3
61547525644, 4

Question Number : 137 Question Id ;: 6154757345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Given below are two statements labelled as Assertion(A) and Reason (R). Read the

gstatements and answer the question that follows :

Assertion (A):  International product standardisation is least costly in terms of both
‘manufacturing and marketing costs for the company. So companies should

bring unifermity in their marketing mix elements

Reasons (R) : No change in the product ifself is required for marketing overseas but
many items may reguire sonie adaptatmﬂ for maklng them suitable to the

foreign markets.
Which of the following options is correct?

(1)  Both thestatements (A) and (R) are correct and (R) is the correct explanation of (A)

@)  Both (A) and (R) are correet but (R) is not the correct explanation of (A)

(3) Statement (A) is correct but (R) is incorrect

(4) Both statements (A) and (R) are incorrect

Options :
615475238645, 1

61547525646. 2
61547525647. 3
61547525643, 4

Question Number : 137 Question Id : 6154757345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547525645. 1

61547528646, 2
61547525647. 3
61547525643, 4

Question Number : 138 Question Id ;: 6154757346 Question Type : MCQ Option Shuffling : No Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements labelled as Assertion (A) and Reason (R). Read the

statements and answer the question that follows ;

Assertion (A):  The basic thrust of strategic decision making in the process of strategic

‘management is to make a choice regarding the courses of action to adopt,

which is the primary task of the senior management.

Reasons (R) : This is so because the basic concern in strategic management is to seek

answers to questions. What is our business? What will it be? and what

should it be?

Which of the following options is correct?

()
(2)
(3)
“@)

Options :

Both the statements (A) and (R) ave correct and (R) is the right explanation of (A)
Both the statements (A) and (R) are correct but (R) 1s not the right explanation of (A)
Statement (A) is correct but statement (R) is incorrect

Both statements (A) and (R) are incorrect

61547525649. 1
61547528650, 2
615475258651. 3
61547525652. 4

Question Number : 138 Question Id ;: 6154757346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : 0
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Options :
61547528649, 1

615475258650. 2
61547525651. 3
61547528652, 4

Question Number : 139 Question Id : 6154757347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Two statements given below are labelled as Assertion (A) and Reason (R). Read the
statements and answer the question that follows:.

Assertion (A) :  Plant location is often oriented toward dominant factors such as raw
material sources while warehouse location 18 definitely distribution
oriented.

Reason (R) : Plant location decision is driven by the competition and competitor while

considerations.
Which of the following optionsis the correct?

(1) Both statements are correct and statement (R) is the correct explanation of
statement (A)

(2) Both the statements are correct and statement (R) is not the correct explanation
of (A)

(8)  Statement (A) is-correct and statement (R) is not correct

(4) Statement (R) 1s correct and statement (A) 1s not correct

Options :
61547528653, 1

61547525654, 2
61547528655. 3
61547525656. 4

Question Number : 139 Question Id : 6154757347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547528653, 1

61547525654. 2
61547528655. 3
61547528656, 4

Question Number : 140 Question Id : 6154757348 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements labelled as Assertion (A) and Reason (R). Read the

statements and answer the question that follows :

Assertion (A):  The addition of independent variable(s) causes the predictions error to
become smaller

A With addition of independent variable, R? becomes larger to cause smaller
prediction error

‘Which of the following options is correct?

(1) Both statements are correct and (R) is the correct explanation of (A)
(2) Both statements are true and (R) is not the correct explanation of (A)
(3) Statement (A) is correct and Statement (R) isincorreect

(4)  Statement (R) is correct and Statement (A) is incorrect
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Options :
61547528657, 1

61547528653. 2
61547525659. 3
61547525660. 4

Question Number : 140 Question Id : 6154757348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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@)  wE (R)TE 2 T mE (A) TeE 2

Options :
61547528657. 1

615475258653. 2
615475258659. 3
61547525660. 4

Sub-Section Number: 2
Sub-Section Id: 615475324
Question Shuffling Allowed : Yes

Question Id : 6154757349 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension
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Based on the information given below. answer the gquestions which follow.

Kruger Corporation has recently irnpfl'eﬁl'egﬂieﬂ a standard cost system. The management has

obtained the following information for variance analysis

(a) Standard cost mformation :
Direct materials = Rs.bperks
Quantity allowed per unit = 100 kg per unit
Divect labour rate = Rs. 20 per hour
Houre allowed per unit = 2 hours per unit
Fixed overhead budget = Rs. 12,000 per month
Normal level of production = 1,200 units
Fixed overhead application rate =  Ras. 10 per unit
Variable overhead ﬁpplicable" rate = Rs. 2 perumt

Rs. 12 per umt

1}

Total overhead applicable rate

(b)  Actual cost information :
Cost of material purchased and consumed = Rs.4.68.000
Q_u&nt.i-t}f of material purchased and consumed = Rs. 1.04.000 kg
Cost of direct labour = Rs. 46,480
Hours of direct labour = 2240 Hrs.
Cost of variable overhead = Rs 2.352
Cost of fixed overhead = Rs. 12.850
‘Volume of production = 1000 units

Sub questions

Question Number : 141 Question Id : 6154757350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the direct materials price variance, given an actual price of Rs. 4.50 per kg?

(1)  Rs. 20,600 unfavourable (2) Rs. 52,600 favourable
(3)  Rs. 48,600 favourable (4) Rs. 52,000 unfavourable

Options :
61547528661, 1

61547528662. 2
61547528663. 3
61547525664, 4

Question Number : 142 Question Id : 6154757351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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What is the material quantity variance?

(1) Rs. 26,000 favourable (2) Rs. 20,000 unfavourable
(3)  Rs. 28,000 favourable (4) Rs. 29,000 unfavourable

Options :
61547528665. 1

615475258666. 2
61547528667. 3
61547525663, 4

Question Number : 143 Question Id : 6154757352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the labour efficiency variance?

(1)  Rs. 4,800 unfavourable (2) Rs. 4,200 favourable
(3)  Rs. 4,800 favourable (4) Rs. 1,200 unfavourable
Options :

61547525669. 1
61547528670. 2
615475258671. 3
615475258672, 4

Question Number : 144 Question Id : 6154757353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Obtain the overhead spending variance.

(1) Rs. 29,202 unfavourable (2) Rs. 1,202 unfavourable
(3)  Rs. 1,200 favourable (4) Rs. 15,202 favourable
Options :

61547525673. 1
61547525674. 2
61547528675. 3
61547525676, 4

Question Number : 145 Question Id ;: 6154757354 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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What is the overhead volume variance?

(1)  Rs. 4,600 favourable (2) Rs. 2,200 unfavourable
(8)  Rs. 4,000 unfavourable (4) Rs. 2,000 unfavourable
Options :

61547528677. 1
61547528673. 2
61547525673. 3
61547525630. 4

Question Id : 6154757349 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers : (141 to 145)
Question Label : CDmpI'EhEHSiGH
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Sub questions

Question Number : 141 Question Id : 6154757350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

4.50 = Wi 9., % Ru e aredfors e W e e g T (Sfew) = A

(1) (2) 52,600 ¥ IR
(3) (4) 52,000 T 7
Options :

61547525661. 1
61547528662, 2
61547528663. 3
61547525664, 4

Question Number : 142 Question Id : 6154757351 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
() 26,000 793 ITFA (2) 20,000 T Tfee
(3) 28,000 ¥ T (4) 29,000 T of

Options :

615475258665, 1
61547528666, 2
61547528667, 3
615475205663, 4

Question Number : 143 Question Id : 6154757352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

579 T I foha 27

(1) 4,800 =7 wfreps @) 4,200 T FTET
(3)  4,800%7 gFA (4) 1,200 % ufg
Options :

61547525669. 1
615475258670. 2
61547528671, 3
615475258672, 4

Question Number : 144 Question Id : 6154757353 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Obtain the overhead spending variance.

(1)  Rs. 29,202 unfavourable (2) Rs. 1,202 unfavourable
(3) Rs. 1,200 favourable (4) Rs. 15,202 favourable

Options :
61547528673, 1

615475258674. 2
61547528675. 3
61547525676. 4

Question Number : 145 Question Id : 6154757354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

(2) zzoomgﬁa@
(4) 2,000 T9 gfaga

(1)
(3)

Options :

61547528677, 1
615475286738, 2
61547528679, 3
615475205630. 4

Sub-Section Number: 3
Sub-Section Id: 615475325
Question Shuffling Allowed : Yes

Question Id : 6154757355 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

Read the passage and attempt the questions that follow :

Dinesh. a young executive. jomed Softech Co. three months back. Coming with a brilliant
academic record. he plaved key -rtj_le- to revamp the company's finance and management
procedures for which he w a's_--reco'gni'zed by the management.

But now his performance has come down with mistakes found in most of his actions. Several
things transpired against him. His only son turned spastic and he was overlooked for
promotion against a new comer. This witnhessed him becoming less popular among staff.
Adding tothat. a mild flirtation with a female employee was blown out of proportion.

Dinesh has became -eliletionall}f' and professionally depressed with morale down and seemed
loosing self-confidence badly.

Sub questions
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Question Number : 146 Question Id : 6154757356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

As HR Manager which life positions in Transactional Analysis would you expect Dinesh to
have?

(1) T'm Ok, You are Ok (2) TI'm Ok, You are not Ok

(3)  I'm not Ok, You are Ok (4) Tmnot Ok, You are not Ok

Options :

61547528681, 1
61547528682, 2
61547528633, 3
61547528634, 4

Question Number : 147 Question Id : 6154757357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which type of promotion policy would you recommend to Softech Co.?

(a)  Career ladder
(b) Merit Based
(@) Accretion of duties

(d)  Competitive and non-competitive

Choose the correct option from the following

(1)  (a)and (b)
2)  (b)and (c)
(8)  (c)and(d)
4 (a)and ()

Options :
61547528685, 1

615475256386. 2
61547528687. 3
61547528688, 4

Question Number : 148 Question Id : 6154757358 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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As HR Manager, which counseling mode would you choose for Dinesh?

(1) Developmental mode (2) Disciplinary mode
(8)  Open ended mode (4) Unbiased mode

Options :
61547528689 1

61547525630. 2
61547525691. 3
61547525692. 4

Question Number : 149 Question Id : 6154757359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The HR Manager should impart which of the following skills to Dinesh?
(1) Technical skills
(2) Peoples skills
(3)  Communication skills
(4) Negotiating skills
Options :
61547528693, 1
61547528694, 2

615475258695. 3
61547525696. 4

Question Number : 150 Question Id : 6154757360 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which management approach should the HR Manager deploy for Dinesh here?
(1) HR Approach
(2)  Contingency Approach
(3) Systems Approach

(4) Interactionalism Approach

Options :
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61547528697, 1
615475258693. 2
61547525699. 3
61547525700. 4

Question Id : 6154757355 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehensic}n
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Sub questions

Question Number : 146 Question Id ;: 6154757356 Question Type : MCQ Option Shuffling : No Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

TH AT TS % W § o Rem % fi wemen frem (# w) § f 1 ¥ ¥ B A T
6t STaET BT
(1) o TF 371, I AR T (@) o T i, 7 ST e i
(8) T T HAE B, 7 I A (4) E TH AL 36, J AR A M|
Options :

61547525681. 1
6154752586382. 2
615475256383. 3
615475256384, 4

Question Number : 147 Question Id : 6154757357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

(a)

TE Taehed 1 ==
1) (a) 3 ()
@ () 3 ()
3)  (c) ¥R (d)
(4) (a) 3T (c)

Options :
61547528635, 1

61547525686. 2
61547528687. 3
61547525633 4

Question Number : 148 Question Id : 6154757358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
61547528689, 1

615475258630. 2
61547525681. 3
61547528692, 4

Question Number : 149 Question Id : 6154757359 Question Type : MC(Q Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



www.prepp.in .repp

Your Personal Exams Guide

(3) Fog (wEiem) &

Options :

61547528693, 1
61547523694, 2
61547528695, 3
61547528696, 4

Question Number : 150 Question Id ;: 6154757360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e T T T T R 3 o - e o

(2)
(3)

(4)

Options :
61547528697, 1

615475258693. 2
61547525693. 3
61547525700. 4



